Reet-2017-level-2-paper

_ 5"”‘:;““" : Write this code in OMR Sheet.

f" lm' % T R OMR e # 3w i PAPER CODE : §T2-2017
|.Roll No. / El - 3 OMR Sh [m—-—-—— _
L L e T e

e ———

* 3. Candidate’s name / Sdtredt wy smy « 4. Candidate's Signatu

— 1 |

re qﬂﬂl‘tﬁtm

e

* As per Application Form / ST 3M8E3.93 & :ﬂﬁ'ﬂ fea

[Invigilator™s Signatare /17, -
; E#MW {i) (i)

S.No. 1, 2,3 and 4 are 10 be filled by the Candidate himself,
FATE 1,2, 3 3 4 & qff wharefl g0 =3 6w §

There are 180 objective multiple choice questions in this

Sections : Section-1, 11 & 111 of 30-30 questions each angd
sections. Each question is of one mark. There is no negati

™ AH-uy o 150 agEETeE I §
3 mammww

wve-1, IT vd 111 30-30
PAPER CODE : ST2-2017
Time P'El‘ioiiﬂnun 30 Minutes

ve marking for wrong answer.
| W1 FE wWR

Total Questions : 150

aper. This Question Booklet is made up of the following four
gectim-lv is of 60 questions. The candidate has to attempt all

ﬁﬁwﬁatmaﬁmmymuﬁaﬁhm
T ® & | wew w1 s w1 R ) em Im s fere, Yfea wik ol wh

Maximum Marks : 150
Section __ Contents | Questons —yiem T T [ T
Child D¢velopment and Pedagogy Wy S 3 9
(% L-“gunge-] (Only One Language]" [ I T | T
As selected by the candidate as meq.un, .1, . ' |
nstruction in 51\'3 Online Application Form as ; |
Language- ! from the Languages given below o
T Hindi __  3_ 31 ] e | 10 13
. e _Eng iﬁn_..____.m_ A 60 . 14 16
= T T T T T Samskelt |30 EY IR I 20|
r I _ Urdy kI 31| 60 | 21 24
- T e
[ Punja 30 31
| Gujarati 30 31 60 3 | 36
(II1) | Language-I1 (Only One Language) 30 61 90
Asse mdhymecaﬂqidadt; Aac-lliléaogoﬂn
gggndﬁmn e Lan - es given below :
i
E b
Sanskrit 30 61 90 44 47
Urdu 30 61 9% 43 51
— Sindhi 30 61 %0 53 56
B e Ta i
arati
d Science 60 9 150 65 78
@v) | @V a) Mathemattcs B o Science Teacher)
Rial Studles 60 91 150 79 »
v b)ﬁ}ggf Social Studies Teacher)
FQRI' any othtl' Sub][t‘ﬁt T;:cl%f;} . _"__"_'___—E
- ' toa 5
Note : l.hmuwm'acﬂd‘[ﬁh;ﬁmFmﬂ- . ; :on [V (b) as selected
11 in the Online Appli empt the questions of Section 1V (a) or Section IV 150 fe ™y
2.In Sections-1V, it is compulsory 10 ’;N ﬁmﬂ version of the above Table & Note refer to Page
biect in Online Appl'ljcau:?:;::ihh & Hindi at Page No. 96, last page of Uﬁi@
Read the instruction

sT2 F
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ST-2
¥ % - 150 LLkacE ST2-2017
_ it 2 W@ 30 fre quite : 150
) [ aver Rrere vd e it Ll X . a EL3
an v o B (FeraTe) 30 1 30 3 9
e T ) o | 3 | o
AR waf W AT F
M Frefefan sos § @ el % w9 §
ST Steer.v8 F ot &
fe=tt 30 31 60 10 13
g 30 31 60 14 16
faki 2l 30 31 60 17 20
= 30 31 60 21 24
Fereit 30 31 o0 25 28
qarat 30 31 60 29 k)
PRI 30 31 60 33 36
() | vrer-11 (Fa Q% W) 30 61 90
QTR FRT HiAeTE FEEA.9E § wai
-1, A sr-1 /@ e gt s Fve 5=
| Prafiafiae sratt & & e & &
[ fir 30 61 % W | a0 |
[ ﬂ!ﬁi 30 61 90 4 | 4
! ik 30 6] % 44 47
f @t 30 61 % 43 52
’ fart 30 61 ) 53 g6
[ Yot 30 61 90 57 0
I TR 30 61 90 61 64
I 1V a) Tifor aar 60 91 150 6
V) [V ) e o fer s & ) O
araar
IV b) G et
( >(mm e s ) 60 91 150 79 9%
Fam
first 3= Tt v iy o v
(IVa mmbq#mi‘) ]
Az (1) wﬁmn‘irmw-ﬂwm-nlﬁahnmm.wiﬁmﬂmmmw.lqam.ui:miﬁmtﬁ
wTaT % e e atvrd o
(2) @S-1V F SRR O SR SR 3 G (1 ) @ @IS (1V b) 3 o v 31 < fan v 560
ge 0 dfE &)

[ SR & S O T 96 T e e FHR R QY FRAT B C | B
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(3)

SECTION -1
g -
CHILD DEVELOPMENT AND PEDAGOGY
W e @ R
There are 30 questions in all in this section.
All questions are compulsory.
Wavgd s 30 TH § )
Bt wem arfrard & |

WhECh,Of _the- fPIIOWi',‘g may not be expected from a teacher to keep in mind while
respecting individual difference ?

(A) Ability grouping (B) Adjusting the curriculum
(C) Leaving Children for selfstudy (D) Adjusting the methods of teaching

wfrra R &1 T 11 9%, s Rige @ 701 3 78 ft et § 7
(A) drammanaed vma ) (B) / wrgraal #) wwRERE F |
() wEin@EREusgim) (D) R it S wmEie e |

When both chronological and mental age of Poonam is 9 years, her intelligence category
may be considered as

(A) Superior (B) Sub-average

(C) Average (D) Genius
uﬁwaﬁrmwmmﬁmwwmt,fﬁmﬂgﬁ—ﬁﬁmaﬁam%
(A) I8! (B) maa®m
() wa (D) WiowrEH

tics of Autism ?
(B) Stereotypic behaviour
(D) All of the above

Which of the following is the characteris
(A) Poor Socialization
(C) Poor Communication

P 1 @ # @ et H e E 7
(A) IR G STER (B) %2 SER
©) - (D} , S0 ferfem
. aecdeeal? iti itatively should be termed as

The process of an mdmdual s capacities quantitative
(A) Development EE’) Slr:t:::ﬁon
(0) EC]I.l1l1br1un!:“ﬁrl P 2 FE TR
© . (W) (D) Rl (Agtem)

g P.T.O.
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5.

4)

For the pro
: Per developm * ol ST-
fOllﬁwmg : (which ong ?)ﬁnl ot a child at adolescent Stage, 2

(A) :

(B) Isi?f Er_'lng proper gender education

(©) A iding suitable environmeny

D) A anging guidance and counselling services (if _
I of the above & services (if required)

§
HRare) T = % 3f R g - R e v ey e e e €« (B 1

(A} fom foven = sfea s 2
(B) 3fga Frarator wem e

(C)  wmi aut Anfesl= &1 )
(D) 3wt frRam TR A (3 e B )

Which of'.lhe following is not related to Action Research ?

(A) Action rescarch helps in theory building, -

(B) It enables us to solve practical problem.

(C) Focus on prnh.lcm that arc of immediate concern.

-(h[g ﬁ%f;‘%r; formation Q;m:;.‘%haplt suc:é]%n?aims and methodology are open to variation.
(A) T my Rigia Pafo § gema s d |

(B) 4R HERIRE GWEN & QUMY %0 3§ 920+ 2 |

() @ iAo v S IR SR A

(D) /48 TETH Wfafwan ¢am & I Ieva 3k yorreft, § gen afad= 21 )

A teacher is going to apply the principles of Thomdike's theory in the classroom. What

he/she should not apply from the following ?
(A} Children should be made rcady or motivated properly for learning a task.

(B) Children should be oriented to a discovery approach towards learning new things.

(C) Sufficient practice or drill work should be carried out.
(D) Teacher should try to make use of rewards as properly as possible.

ﬁﬁwﬂmﬁwﬁmﬁ%fﬁﬁaaﬁmﬁmmtlmﬁﬂm&ﬁﬁ
o7& & e ?

(A) ﬁﬁmmmmﬁqmﬁmmiﬂﬂﬁWﬂmﬁMmmﬁq |
(B) =il @ 7% < wE ¥ we fafl 3 forg spe foan S e |

(©) “zﬁammﬁamﬁmmaﬂu I
(D) aﬁaﬁﬂmaﬁwmmuﬂmﬁﬁdﬁﬁmmaﬁq |

is the inability to distinguish between one’'s own perspective and other’s

perspective in early childhood. N
(A) Centricism (B) Ego centricism
(C) Animism (D) None of the above

e 3 ARA FA 71 ZE & TR § T B 7 I i quter |
(A) FEE (M) (B) 43T F3T (1 A -

(C) SumeTarg (Tiew) (D) T A w
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9.

10.

11

12.

(5)
F

“When someone fai

' ils repeatedl|

simply places excessive ¥ to overcome weaknesses and achiev

e tement o 'inlf e:'i ::::Phasas on some particular int'crioni;h.'.e:;hsg tﬁfuz;.::;ygﬁ;

y complex” ' -

:8 garl Gustav Jung Pl EB} Sigmund F

aren Home igmund Freud
. y (D) Alfred Adler

79 THIE ALER
o il Py & srereen e & ok g s s @ &

ararurd: 3t

T 7 1 e SR ae 33 T 3 |"mﬂfe‘1ftmamaﬁ1#ai-ﬂw-m'
(A) H TR et 7

(C) FAEHA ;g;, miﬂ;

alters focused 15

The highly efficient form of learming approach, on which Bandura and W
jmitation

A Rk .
(A) Reward and Punishment (B) Observational Learning of
(D) None of the above

(C) Self-actualization
Wﬁ"'ﬁﬂﬂwmmiwﬁmaé

w37egea Frorarqu A

(A) JGHR qul &M (B) ﬁﬁmrgﬂﬂa:ﬁrrmmmf"'
(C) T-arraHHy (D) S ferfa w7 |
ucation Act, which of the following is no
rriculum within the specified time.
If or herself in private tution.

lity in attending school.
each child and accordingly supplemen

t a role of teacher 7

As per Right to Ed

(A) Complete entire €U
(B) Teacher shall engage himsc

(C) Maintain regularity and punctua
(D) Assess the leaming ability of

instructions.
s & Wﬁﬁﬂﬁﬁmﬁrﬁ%aﬁ#ﬂ

t additional

h of the following would
without regard to

o= |
sonality structurc, whic
and reflexively as they arose,

orals of an d?
B) Bothego and Super €go

rules. the rea
(A) ?dupef ego (D) Em;;i .
(€) . & e ¥ S, P g At ¥ ¥ TR A
v Waﬁﬁﬁ @
?i:gam A &1 8 (ﬁ*ﬂﬁﬂﬂmwaﬁmm fohen it Srder F ) W
Frard ? - 7 T TSR Bl '
. (B) (Both Ego and § ,
(A) ::I (Super ego) D) bl uper ego)
(C)
P.T.O.
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F
13.

4.

18.

16.

(6)
In which of the following technique, the child ear
desirable items, s€Tvices or privileges ?
(A) Token economy (B) Shaping .
(C) Extinction ) (D) Coven Sensitization
ﬁqﬁﬂﬁﬂﬂﬁlﬁ%m’lﬂ,ﬁﬂﬁﬁﬁiﬂqﬁmmg,mmﬁa}m
o 1, HT4 9 A F w4 w7

(A) Y A (Token economy) (5) mm(smping)
(C) faelte (Extinction) (D) Sre w3 (Covert Sensitization)

5Ty
objects, which they can exchange for

Students encountered many conflicting situationg during their adjustment process. For
example a student wants to admit his mistake i front of the teacher but at the same time
he is afraid of being punished by the teacher. It is best explained by

(A) Approach-Approach Conflicting Situation,
(B) Avoidance-Avoidance Conflicting Situatiop,
(C) Approach-Avoidance Conflicting Sitpation
(D) None of the above.

mm%mmmammg -
mm,m%mmmﬁﬁmmmmﬂxﬂzwﬁm
zﬁaﬁﬁtﬁmrmiiﬁnﬁﬁﬁsﬂ%mﬂmﬂsﬂﬁmmmg-

(A) 2R - wzfa Rrdvmamt aRffy  (B)| ook - o vt oy

(C) ugh — =i st oifeafy (D) St ferfea wrd 7 |

AS year olgl child has a general lack of responsiveness to others, serious deficiency in
communication and unusual repetitive behaviour. Such characteristics are the sign of

(A) Hearing impairment (B) Scholastic backwardness

(C) Infantile Autism (D) Leaming disability

T o9t & a2 3 qwd & v ybe awn wew § w9 2 @ FHWHI SHEER Y YA
w0 ¥ | 7 R & T Rew s vef R 2

(A) a wiftra (B) ¥ Rozm
(C) v el {D)/yhrmm

A behaviour pattem involving self-starvation that often arises in adolescence and
especially prevalent among girls is known as

(A) Anorexia nervosa (B) Delirium tremens

(€)  Autism (D) Down Syndrome i
femueaen 6 3 e Rrel g 31 ,@@@ﬁﬁ!i\?ﬁtm“m ferrad 3
ot & | T S ) oy v

(A) TARTRT Fary / B) e P

(C) i (D) % g
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ST-2
17.  Which of the l‘hllnwing term reg
referg

(A) Optic Atrophy
(B) Astigmatism

(C) Hyperopia o
e s
(A) IR Wt B e
(€) grwafn D) fovem
18. Insightful theory of leaming is piyen by
(A) Thomdike (B) Gardener
(C) Kohler (D) Hull and Tollman
g it saraEtes Rigia gru o mn 2
(A). ~AFETEH (B) MEW
(C) Wigen (D) ¥ a1 AT

19.  Which of the following body regulate the training policies and programmes L the field of

rehabilitation of persons with disabilities in India ?
(A) National Council of Teacher Education

(B) National University of Educational Planning and Administration

National Council of Education Research and Training

(©)
(D) Rehabilitation Council of India

|

ﬁnﬁﬂaﬂﬂ%ﬁwaﬁmﬁwmﬂmmﬁwﬁmmm%ﬁﬂmﬁ

T Rm R ?

(A) T oA v ok

(B) - ugta s Ao wa s foreaferarc
(C) Tt Afireh FTFHT T wnEm TR
(D) wTea gate TRwg
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20. "t a particular stage children begin to use Primitive reasoning and want to know the
agwer of all sorts of questions.™ Piaget called this “Intuitive”. Ag per Piaget, which of the
folowing stage. he means ? |

ST

(A Concrete operation (B)  Pre-operation
(C  Formal operation (D) None of (he above
'ﬁmW“ﬁm_ﬁwmm%ﬁﬁﬁmHﬁm%wﬁmm
AT G9TEA & " s 3 R < Sfagty 2 R ¥ m,ﬁqﬁﬁﬂqﬁﬁmm%m% )
(A} HTHR HSIT (B)  YH-Har
(C) =i guem ¢ (D) 39y HH W oy
21. Mot of the children speak first meaningful word at the age of
(A) 3 months (B) 6 monthg
(C) 35-40 months (DY 10-13 monhs
SITGIR = YUY WY ¥R 36 39 3 Aoy &
(A) 39énd AB) 6wy
(C) 35-40wéR (D) 10-13 7y 3
22. Who s the father of “Theory of Multiple [ntelligence™ 2
(A) Vygotsky (B) Brunner
(C) Alfred Binet (D)  Gardener
TR FFwaE 2
(A) ¥ETEh (B) IR
(C) =%z fre (D) /rnéqt
23.  Who his given more stress on the Philosophy of Social ¢ onstructivism ?
(A) \ygotsky (B) Piaget
(C) Dewey (D)  Kohlberg
B 3 X e gl wamae el @ Jcutiys wet R 2
(A) Fymeeh (B) T
(C) &h (D) e
24.  Whichof the following is not an example of assistive technology for visual impairment ?
(A) Large print book (B) Magnifying computer book
(C) Speech synthesizer (D) Supplement to text book
ﬁqﬁ#ﬁqsﬁiﬁaﬂﬁaﬁmﬁfﬁ%mmﬁaﬁMH@mmqﬁ% ?
(A) 3 i i o (B~ ferarrereh srvcgetiopn o
(C) amft gyeiws (D) UIEIES A AT
2S. Hearing loss is measured In terms of
(A) Hertz (B) Decibels
(C) Watt (D) Pound
71 ferpfer < e <) refy 2
(A) ¥aH (B)- SdRa
(C) sie# (D) ded
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26.

27.

28.

29.

30.

”

Which of the following is an example of fin€ motor -ﬁkills i
(A) Climbing p) Hopping
(C) Running (D) Writing
ﬁnﬁ&aﬂﬁaﬁaaﬁlwmqm% ?
(A) =T 8) ®&T
(), g " (D) for@
Meaning of Schema i8
(A) Chunking Mechanism
(B) Learning Techniques
(C) Organized packets of information stored in long term memory
(D) Defence Mechanism of body
gy 1 wacH
(A) GUEA frmfaft
(@) aifterm faft
(C)’"Fiﬂw%mmﬂﬁm%éwﬁ;aﬁ%‘{ﬂmqaﬁﬂﬁm 1
(D) Wi wiaag

down into variois basic

reak intelligence :
ess it and then use it to reaon and

gory ?

Information processing theories are known tob
take in information, proc

skills that people employ to
solve problems. Who is best known for propounding such th
(A) Jerome Bruner (B) Jean Piaget
(C) 1.P. Guilford (D) Robert Sternberg
mﬁﬂwwmﬁmm%mqﬁmtmm
¥ fore v v € | 36 T S g

q&T THA
T R, ST e 3T e SR A HATT

Rl
mﬂﬁﬂmmﬂ%ﬁnﬁ?ﬁwmt?
(B) R

(A) SOH T
) & P (D) U AT
Select the ‘educable’ group based on different level of 1Q.
(A) 701090 (B) 30to 50
(C) 50to 70 (D) Below 50
e fo e 1Q i frofir T H G |
(A) 70890 (B) 30850
(C) 5070 () soade
The unit of heredity is
(A) Chromosome (B) Fertilized e

g8
(C) Gene (D) Zygote
Frgafivhan 6 e 2
T
L (D

) I p.T.0.
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3l.

32.

33.

35.

36.

37.

39,

e - |

fed

g @ue § e TR |

aoft e wfrad 2

.ﬁmmuﬁmwmﬁﬁwzﬁm%?.

(A) yemaaadt! (B) T snd -
¢ foin-sedm @ (D) T E

4ﬂﬂ3ﬁaﬂﬁﬁiﬁ1m%'ﬂﬁﬂﬂﬂﬂﬂmm??

A) e e i Bz wau 21 (B) N sk wfec w ufvg w2 |
afaF TE S aau 2 (D) S AN HfRe 3 e Eeu d |

(0 Tsﬂ?ﬂaﬂl
-Wﬁuﬁﬁwﬁﬂmﬁm'mﬁa‘lﬂﬁﬁﬁmmi?
() F ¥ e i o (B) St g % Twar
(C) T AT & «mn (D) 3T R I IR
o8 FIEA’ [ER 1 T 37 A :
(A) F6 ¥t AT (B) faargdes &1 HE
() -forder g (D}!Wﬂmr@ﬁmé@-aﬂmﬁm
Rgr & FTE G T ¥ AT A SR g R
(A T (B) H
(€) faghym {D)‘ feranfarstaw
gare fafty 1 3o AE R -
(A) FHEfu (B) f=d
(C) grt (D) IR
s e A w9 @ form fafy o 7df @ ot @ 2
(A) wmaT-gei fafy (B) 3 fafu
() fmm faftr, (D) A ffy
f.ow. =9 A e d B @ i smm R R 2
(':“*“m) ﬁﬁﬁﬂmama
(©) :;ﬂi (B) Ul @YK

R (D) areq & TG
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40.

41.

42.

43.

45.

49,

50.

ST-2

3] 1 AAE F9 R -

(A) wThE (B) ;ﬁfﬂf

(C) ™ (D)
aﬁ@ﬁﬁ:aq&mmmﬁwmmﬂmim? o
(A) rafiyes @ 4 (B) ﬁﬂmlﬁa; a
(C) wreafiE @ (D) o WA
wifves wrnft & - i

w T O e vt
(©) )

g add -

(A) aﬂr;mﬁ (B);%
(©) Fea-geu el (D)

iftrer Rrerae wlgw 2 -

(A) R Pl e (B) quﬁ‘““ﬂ‘
() HretE gl (D) Wﬁ F

m.m.ﬁ.ﬁmﬂmﬁﬁnﬁaﬂqﬁ%:

reor anare 3 e @ d | (B

(Bf JqTont ah STl
(D) el i TR

o AL S A IRE T | +
;wmﬁma@mmmwi,ﬂzﬂﬂmﬁﬂw
® W@W%I@W%ﬂmmmﬁﬁ~
(A) SEfag e (B) W8T -
(€) IR B AT < (D) Tl % & g
a@ﬁummm%—
" (A) ST I (B) FreerwomeTH ¥
(¢) forem v (D) TS 5
8 DRTEAFEAME-

) wwmﬁuqﬁ!famfhaﬁ?ﬁii

:2)] wﬁwmtm‘?@lmﬂl (D) mﬁﬂﬁmmﬁﬁmmmﬂl
@ﬁWﬁﬁﬁmmt

(A) dwa (B) g

(C) neiAEa (D) Sl

o R w1 R 2

(A) ST o Y S 2T | (B) Fwagal & |

(C) qEgdl &M |

(D) AT A T A |
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(12)

%ﬁmm&mwmmslﬂssﬁ%mm: ST,
e gEAA Bl Hoft B llﬁﬁi’i’iﬁﬁﬁﬁﬁaﬁiﬂﬁwﬁmﬁﬁ“m% R

mamﬁﬂwm% lﬁﬂmmﬂsﬂwmﬁrﬁsiﬁmwaﬁ,wmqwm‘ﬂmﬁm
g,@maﬁmm%wmﬁmﬁmmmﬁmhm
o i o e | - e s ) 3 6 o A i 2 s v g | e
3wt ao e Safat, TR, THTS STuat Uy I B A R § |

51 P vRdFR @ mgw g 7

€) TuEh (D) T Efy

52. - 9§ A R 7

(A) HHUTE (B) Irewdhva

€ W (D) g
53, ‘Iepd o aE frem v |

(A) Y (B) e

(C) JTHN (D)

54, @Y &g % FT W w A ¢ -

A) WRFHAIRT  (B) FOFAI

(€) RETHFRY Wefef A (D) for E e T
55, 390 & feeft sree AR

(A) T (B)

(©) = (D)
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%m*mmmﬁwm ﬁoggmm‘ '

3T TR 3 0 ) e st e o it & e o
g ¥t S arfres w # Imwmmﬁmﬁwa%wmﬁmmﬁﬂﬁﬁ
# oft T e 93 e Iwﬁﬁﬁﬁﬁ@ﬂwgmm,mﬁﬁﬁﬂﬁﬁﬁ
a'm*wmmﬂwﬁm-@mgmﬁlwwﬁmm
w1} | o ey 81 & 1 v e afes s o e @ e L EE A A A
-5 5 M oo AT oM w0 § 1 o e v of e vt g Rl R <
| AT |

56, ¥ W T R gfee e A svea R 2
(A) faam (B) feufa
(C) qvarERy (D) ftm

57. T Q 9% vEE qaT3U frgent g e fom e off oidfufa § & ager
(A) el ' (B) fafy
(C) TR (D) =«

58, ‘ITMfETATe Yeg 1wl 37 Wy -
‘() % Rigia R T g i v a@r e |

(B) e Feafvr % frgra
(©) sty & Tt wA oh e & e faa wee

(D) TRt & A W W
w&mmtﬂaﬁﬂnﬁ?ﬁaﬁfaﬂmmsﬂaw T T ¥ A w1
e ?

59.

(A) ST (B) wRemy Tduam
© aiTilT?fﬂ?f‘fﬁ (D) Wﬂlﬂﬁﬂﬂ
V@it e i 37 TR |

60, w@m@%mﬁi'mﬁ
(A) R AR H
(C) ST o QG e
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(B) & T &l I e & |
(D) it s g e e
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33.

34.

35.

36.

37.

38.

39.

(14)

SECTION -1l
LANGUAGE -1
ENGLISH

There arc 30 questions in all in this Section.
. All questions are compulsory.

Which of the following sentences has the correct structure of quesij:)n ?
(A) Do you have got a car ? (B) Have you gotacar:
(C) Did you have gota car ? (D) Did you got a car ?

The passive voice form of the sentence - ‘Thieves broke into my house will be
(A) My house was broken into by thieves.

(B) Thieves were broken into my house.

(C) My house had been broken into by thieves.

(D) My house was broken by thieves.

Which is the correct option ? |
(A) Raghu is the tallest of any other boys in my class.
(B) Raghu is tallest boy out of any boy in my class.
(C) Raghu is the tallest boy in my class.

(D) Raghu is the more tall boy in my class.

The passive voice form of the sentence * “Who wrote this poem 7" will be
(A) By whom had this poem been written ?

(B) By whom has this poem been written ?

(C) By whom was this poem written ?

(D) By whom was this poem being written ?

Which of the following sentences has the correct structure of question ?
(A) Why hadn't she attend the meeting ?

(B) Why didn't she attend the meeting ?

(C) Why didn’t she attended the meeting ?

(D) Why haven't she attended the meeting ?

‘The material should be according to the child’s mental age, mental ability, grade and level’.
Which principle of teaching is involved in this statement ?

(A) Concreteness (B) Accuracy and correctness

(C) Selection and Gradation (D) Proportion

—____ means equal treatment to various components of linguistic learni
(A) Habit formation (B) P‘I}merest guistic learning.

(€) Multiple line (D) Proportion

Which principle of teach; : :
(A) The principle 0;’.“;};:)“3 English creates a zeal to learn something new in language ?

(C) The principle o fmﬂper order (B) The principle of habit formation

tivation (D) The principle of selection
The method emergeq .
method is "8%4 35 a reaction of the various demerits of The Grammar-translation
(A) Bilingual Methog
(C) Direct Method (B)" Play and Learn Method

(D) The Sentence Method
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40. Which method is also known ; hing English as second languag
nod N of teaching Eng

(A) St_xl.?astltunon Method 8 Natural Mg;hoérammar-translatinn Method

(C) Bilingual Method ED) Direct Method
41. Choose the productive skil| i

(A) Listening fom the fn“?g;ng Reading

(C) Speaking (D) Reading aloud
42. What do people read for pleasure ?

(A) Literature ‘ (B) Labels

(C) Report (D) Dictionaries
43. Which te.chni_que of reading is used to get at the gist of the text ?

(A) Skimming (B) Library

{C) Scanning (D) Aloud -

44. Which teaching aid can be used to teach listening comprehension ?
(A) Text book (B) Word cards
(C) Tape recorder (D) Picture cards

45. What can be used as props for dialogues in order to teach new lexical or structural items ?

(A) Text book (B) Reference book
(C) Realia (D) Dictionary
46. ‘The testee has to replace the underlined word with correct option.” Which skill is tested in
this statement ?
(A) Reading (B) Listening
(C) Wnting (D) Hearing
47. measures a student’s achievement in relation to a specific task which he ﬁill later
be required to perform. |
(B) Proficiency test

(A) Productive test

(C) Integrative test (D) Objective test

4. test measures the language skill naturally.
(A) MCQ type (B) Subjective
(D) Reading

(C) Objective
49. What is the cause of failure in learning a second language ?
(B) Over simplification of target language

(A) Home assignment . _
(C) - Diagnostic test (D) Reading strategy

30. Grammatical Errors referto ___ .
(B) Spelling errors

(A) Inappropriate words
(C) Lexical errors (D) Errors in syntax
P.T.O.
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lhE bas
Sage ca
refully ang answer the questions that foljgyy Sy

ro
S¢ Passage.} (Q. Nos, 51 ¢o 55)

S,

S2.

§3.

Ss.

€ OUr environment by throwing different kinds of waste carclessly, pm

Of waste . ’ )
This pmbl"-;dnl:qtmn, Waste reuse and recycling are the preferred oplions for mana. - ethod
to dump the ‘:'s Tnnre SErious in cities because sometimes it is difficult to find aag;:.-,;ng Wag,
Ours and gy ]fste_ Garbage bins overflow in big cities. The waste begins to t?ol al?r Place
INKs. It becomes a breeding place for harmfu] bacteria which would Sptrcera;% —
il

healt :
e h and diseases like malaria, typhoid. cholera and dengue, etc.
ich of the following words is a synonym for *dump’ 7

15pose of (B) cater
N flourish (D) deck
N ?ﬁnm_of ‘reduction’ is .

Promeotion B). diminuti
(C) Induction ED} dCCOmp::Josri]tion
Which ofghe following words is correctly spelt ?

Fartile (B) Furtile
(C)  Fertile (D) Fortile
The verb *pollute’ can give us the noun
(A) pollutation (B) pollution
{C) pollutable (D) polluted

f‘ind the correct one word for the phrase given below :
Converting waste into reusable material’

(A) garbage
{C) managing waste

(B) recycling
(D} breeding

Read the passage and answer the questions that follow :
Prose Passage - 11. (Q. Nos. 56 to 60),

56.

57.

58.

59.

I have access to safe water and 10 avoid water crisis in the near future it is necessary
that correct policies and schemes are made. Water conservation and its proper management
can also be considered as one of the effective steps to avoid water crisis. India has a long
tradition of water harvesting. Harvesting rain water is one of the most effective ways 1o
tackle the water crisis. The basic principle is, to collect the rain water where it falls, use it
and let it seep into the ground. In this Rashtrapati Bhawan is leading the way. It is one of
the few buildings in Delhi that conserves rain water. Aizawl in Mizoram meets most of its

water needs through roof top harvesting,
Which of the following options is an example of ‘demonstrative pronoun’ ?

(A) This B) 1
(C) Its (D) Then

‘I have access to safe water.’
The underlined verb - ‘have’ is an example of

(A) An auxiliary verb (B) Verb in simple present
(C) modal auxiliary verb (D) verb in present perfect

Which of the following has the three degrees of the adjective in their correct form ?
(A) Near, more near, nearest (B) cormrect, more correct, correctest
(C) few, fewer, the most few (D) effective, more effective, most effective

In the phrase “water crisis in the near future’, the determiner used is

(A) water (B) crisis

(C) the (D) near
Conjunctions in the passage are

(A) and, that (B) as, of

(C) where, let (D) most, through
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39.

40.

41.

42.

43.

45.
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37. Wﬁﬁ?&:ﬁmmﬁﬁ:wﬁqﬁ?
(A) YUERERL: (B) TOTauefy.
(C) vrEgEHvghy: (D) Trafyogfy.
RACLE D) o T N— TS : IR AR 2
Ay Fatuega: (B) WUSRemuga:
(C) I EIEFHIZ: e (D) ReEnwgR:
mﬁwﬁmzmﬁﬁwaﬁmﬁfmﬁ?
(A) AR g (B) ¥ fagra
(C) WisFwrw fagr: (D) @ik fagr
%: g “Framfiefirgr: 3 amen s 2
(A) e fagm: (B) wmifywmamar: fagma
(©) wﬁﬁn’"_ﬁ (D) aaqlammaiﬁﬂﬁ'
mmmwmmmﬁ?
(A) Pifiiy (B) wgifey
(©) Py (D) mafug
s fodtan ettt fb e wheen afey 2
(A) worRlEIey (B) YTy
(C) WTSUThYIETq (D) TETHNEH
soERuIEeT we Prafin wRrer wafy
(A) WEER (B) savif=T=
©) I (D) ==
st S fedenfi sifey o
(A) TEENTHTA (B) GEHEAITHIOTHTY
(C) FSRITHOTAY (D) TS
ﬁwmmﬁm{?
(A) T il
(C) wmaTaf3mmt ®) -
(D) s
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47. WEEIHHUSEIR i oy -
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© =g TEET (D) PreeeedtaraT
48. HIHTHR 1 gham srarry 7
(A) gt (B) wtRgEwTiE
(C) Prewrsggfie ©) FrmrEEE
49, EPANE qrmge SR
(A) SR (B) SRy
(C) TaverwomeTs Ry (D) ITEARICTHRIEOH,
50. witspamvTaPatuTaE Fe sqregm @ 2 S
(A} FHTHSHITE (B) WATTHIEE
(C) Praraseas (D) 3L TEEATE

srferRaan srafad e i Fraferfigar: wen (51-55) THTST:
Wmm;mmm‘mmmwm
R TERITEREE B 3T T e sEeea w38 e | T o

TaRiE WA QSN A | T T SR e st whaed: | s
gy wrore e/ P Fa: | Tt ol weft foes e v T SRy,
HEARE |

51 o fraTee R R Rad 37 v e 7

a) fefiR (B) @
€ = (D) f
52, ‘TyTEAY SR Te H: §AE:
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53. “IAARI ¥R R qerury: +: 7 "
K = (B) 3R
© 3 (D) ¥y
54. TS ¥9T ®: W49 7
(A) ¥ (B) TH
(€) W=y (D) W

55. ‘FIM" ¥ w1 favfde: ¢
(A) qarft , (B) 'gg[ﬂ
(C) T (D) Rt

srferRaan srafdd mereny sraersa frenfigen: s : (56-60) wamea: - |
T FvamerRii) ¥ 9e1 9 TT: A WA T Ay I Ao W
woied wafd | & 7R 9 T v - A - aeEe - st s e
MI%WWWW—WmﬁM%ﬂWW m|

56, i g Rfufrgaeat w9 yafa

(A) Wag (B) IMEq

(€) % (D) wirefa
57, ‘IAfR" ¥R R yEug: F: 7

(A) 9 (B) W

(C) = (D)
58. ‘“ANTeY®:” T Yo Wi w9 wafy

(A) wrihiR (B) wrizsi®y

() wrieRFA (D) i
59. ant: ¥ vew frete, . ¢

(A) wud: (B) wfed:

(© IN: (D) W’
60. ‘Wm:mﬂiﬂﬂﬂt”mm- :

(A) =fy w7

© W (B) ST,

' (D) @
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(41)
ECTION
ANGUAGE '
ENGLISH
Thﬁ'l‘{ta
re 3 _
Identify the worg iry vop.. . All quass oM in all in thig geey
(A) Concept N which the Stions are Compu) s on.
(C) Sect | %&-‘mfﬁﬁ the oth
. (B) Po other words.

Pick out the ¢ reept
(A) -/znrik orrect 'fanseriptioy, of the w -Con?e“
(€) /dginrik g
Taking into accoyn; the princi (D)  ‘dza’nerik

{Aj TEaChing can be difﬁcmfles Of Iangu&ge [eaChlng

(B) Desired goal of .
. ¢ teach .
(S} Only linguistic habits cgn piosh 1a08age can be achieved

Communicative A
; pproach t i
(A) Exploit Sound lst:w:ho?irlaE n:gilngh Language enables the teacher to;
(B)  Exploit sound educationg s . Prngiples
(C) Exploit 10nal principles
plot sound psycholinguistic and edy ti inci
(D) None of the above cational principles
In Communicati '
) A nicative Approach to teaching the teacher must know why it is
elter to tolerate errors in students’ attempt to heir s
B) Not to all 1 I ‘ _ pt to express their selves
gC) N oa ]ow students’ to express their selves
ot to tolerate errors in students’ attempt to ex their selv
(D) Better to note down the errors P press fhelrselves

One of the language disorders is found when:
(A) learneris missing the class

(B) learner is speaking in class
(C) learner speaks in short and fragmented phrases

(D) learner speaks the full sentences

Language disorder means when a child has

' Ity in understanding the meaning
) D in g his/her thought

(B) Difficulty in expressin

(C) Trouble producing some sounds accurately
(D) Either or both (A) & (B)

Articulation error occurs due to

ed speech habit
gg; gﬁlr;n'ing cﬁir and clipping sounds

'S jgence _ |

Eg; tg:;l:nng ;i:.anet?!-ﬁssgance to stress & intonation
i . involves _ . | | "
Remedial tea R OFlearn I (B) Rectifying a particular problem a
(A) Improvement of learning skl IR iy S
stresses on,

(C) Either (A) and/or (B) |
tion -
seabulan (B) Fluency & Flexibility

PPy h to
Communicative approac bulary _
A) Content relevancy & Voca (D) Neither (A) nor (B) o

§C) Both (A) & (B)
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(A) Text and test

(42)

cheme of evaluation outlined by CBSC is
E:f en(lj;mprehensive & Continuous Evaluation

ST-2

(B) Continuous & Comprehensive Evaluation
(C) Continuous & Communicative Evaluation

(D) Communicative & Continuous Evaluation

Remedial teaching should be carried out after identification of

(B) Text and learning

(C) Malady on language test and its causes
(D)} Merits of teacher

Remedial program is designed keeping in mind
(A) Each student’s strength
(B) Each student’s weakness

(C) Each student’s strength and weakness
(D) None of the above

Remedial teaching is a

(A) Preparation of teaching (B)  Pre-teachin g program
(C) Systematic process (D) Random process

The basic requirement of a language proficiencies test is that it must be
(A) Reliable (B). Complex

(C) Ambiguous (D)  Simple

Passage :

In spite of rigorous precautions against accidents, many people are
factories and elsewhere. In addition, some people are born w
cither blind or deaf or in some way deformed from birth. Upto quite recent times, little
planned action was taken to fit handicapped people for employment, A number of charitable
organizations tried to help them in cases of hardship; but few seriously held the idea that these
people might still have abilities in other directions.

Which one of the following is
(A) Rehabilitation of the ph
(B) Physical disabilities..
(C) Accidents

(D) Planned action

In the above paragraph, ‘In addition® indicates
(A) Emphasis

(C) Sequence (B) Addition

_ (D) Altemative
Eltherhthcse children or my own son picked all the flowers.
© s (B)  has

(D) are
In the above passage the author wants to convey

le in the world suffer from physical disabilities.

re n : .
(C) people who are ﬁt taken against accidents,

\ Physicall

1(\10)- phj.rsmally challengeq pegpclgﬁair::g;g :Efm;g foremployment

! v.?c:sa}:v, children are a req) headache, Two aspirins will make a headache go away. Therefore,
pPirins will make Noisy child

Above lines contain e o away.

(A} The fallacy of €quivocat;

(B) The fallacy of false anzlgg;

'({g; The fallacy of hasty genera

¢ fallacy of composition

_ injured every year in
ith physical disabilities. They are

the most appropriate title for the passage ?
ysically challenged

lizatiop

https://www.pygonline.com



https://www.pyqonline.com/

§1-2
81.

82.

85,

89,

Extract :

(43)
Your love g : F
impression fil] , ©' doth
ich vy
my brow; ., sar Scanda] Stamp*4 upon
For what ¢car
orill, ¢ 1 Who callg me we]] ~
So you o’ey.
Ereen my
The rhyme scheme of th Y bad, my good allow »
(A) abab © eXtract js
(C) abba Eg}} agbb
. abca
‘One proven way to beat . i
heel mean ? , al an enemy i find his Achilles heel’. What does finding Achilles
(;C\) gmulet (B) Weak spot -
t i S
(©) rong point (D) Secret sl::}ategy
The Wolf with its belly stitch

. ed full of b; :
Nibelung wolves barbeg like black p?nc ;‘%r[;?t}blcs’
Against a red sky, over blue snow

Which figure of speech is used in the above extract ?

(A) Metaphor (B) Simile
(C) Alliteration (D) Assonance
Which one of the followin

£ 1S sometimes called ‘vocalic rhyme” ?
(A) Assonance

. (B) Personification
(© Alliteratiqn (D} Rhyme
Which figure of speech is common in tongue-twisters, jingles and non-sense verse ?
(A) Alliteration EB)}l i;m;lehm
(C) Rhyme p
It’s a beautiful day. | have brou%gt}this :ﬂn‘;bfflla.
» - n n
Eég :;;ﬁ:lr:j;’t (D) couldn’t
Il with an email or a letter.
You should _ your phone call Wi (B) follow up
(A) follow on (D) show on
C) take on
© ing 7" “Let’s see how the weather looks and " Insert
“What time shall we go shopping’ .
the correct idiom. (B) play it by ear
( A)COraining cats and dogs (D) callitaday
(C) tumn ablind eye
i iambic pentameters
Sonnets usually are t0 Eg)) La;:_‘s 4 trgtr:\nco
(A) free verse
(C) iambic trimeter
A person who writes 2 PLaY 1* EIBJ)) E}gﬁﬂ{;
) playwright P.T.O.
(C) playwriter
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ﬁmi Hma'ﬂ'l:l

HEFATERI9ATE WUEHEHTIATER 1 T JTHIRFHISHE ?
(A) dieRgfa: (B) WemmTaygf:
(C) BFIFARIZN: (D) WTEAEawTZhy.
w1 vt fver wd wiRgaamdt 2
(A) TCRMRIER (B) WUSTaIZa
(C) TIEIRHILA! (D) Frafurga
wTSRgATd SRy wafy
(A) wTeoTy (B) d@Eq
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HRRL- 8-l B BlsH Boctis el Yo G 59 sdl 42ll. AN Rl U2 i g
514l 9

(A) Uil il drudle, (B) 3l asidley,
(€ ddclagqisisdlad downdsi (D) AR areur WRell ollaa sl
¥ Asel ad{uis [Rzterdl W sa s:at QAR 53 A B 6 9

(A)  ARRI HBlEA (B) [(buicus Al
(C)  olinsl 0wl (D) el qexdat

AL UL AR UH EH1IS 76 2 8011 Gz 241

638 Uil 1 €1 6 3 Al 24 AL K01 By WHr Al A&z Qs WL 20+ A

Ridl 24 Rid 53¢ 33 8. 215 Y0 63, Hint [BUR' % S50 szl Rsrt A w. =3 Y
51 2 [Q1R] u8] s8] 536 vy t>% BRI Quled B. 2L HE A 43R s, Huedl AAA udd
Rictt 53¢ 3. Ul (A At 5131 gt 247 WRA Renaedl B 240 HR2 A 244 et A ald
Wl 5l W3, AL B2EUs s ALY B, UBL YAl QRUAY, FUOYS A ZLdlAL vl sul 157
HaAl 2R B 1 A APNUL @l vieeAl WA AR vl el o W8 i 52 A o o
gfarslu 8, ¥ st ARG, et-{l oval.

76.

3

el 530 U6 AR NE B T

(A) il (B) deo-il
(C) “REL (D) ¥R
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. : (63)
7. W we AR s y g
(A) ¥+ Gk
©) ¥+ O& (B) 3+ Gk
i (D) - 3+ G
. HLBEUS N Ny i : :
78 A s UL Beeus’ By 3q URA AAR S ¢
©) et :E )) *q;‘? )
19, ¥ SUAL ARG ol o)’ qay 541 SIS 9
(A) adsu- B) osia
(©) oy D) sl
80. ‘Nctet Rictrt 53¢ Wi RQnwy SYUED 9
(A) ¥ad (B) Ria+
(C) 59 (D) W
A AN HEAA AR WK 53115 81 2L 8541 oyetiof 20 -
AR el 201
YAl e Body;
Bls wivi BIRA A o{loy s,
il GleR GHaL
G a3$ 3 AUYA Ll
L 2i-dR B3,
oL it A2

81, sicuedl i O Nl 4L e GUARL YA 6 1

(A) Gl (B) <uvqld
(C) iR (D) @ity
82, gl v sl aid sl 21 6 1
B) R
(A) el (B)
(€) MRS (D) Eq
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83.

84.

8S.

86.

87.

88.

89.

90.

(64)
‘BIR* M2a o

(A) udd (B)
(C) 2B ‘ (D)
‘GisRal" oAl iRl 5104 YR 2N,

(A) Bewriag (B)
(C) Wuy (D)
L leu 5y s qy Al oy ¢

(A) el AR (B)
(C) veRE] ey (D)

AR-1ruil ARl iRt i qw 54 6 ¢

(A) 2 AdEsUAL MRS oL iz 6,
(B) RISl W2 HodSey 4q) 6.
(€) MR R R QAR ¢,

(D) Ul Wl €1 539 MSA.

A A 2wl 204l Qs s WsRA S 9
(A) usual (B)
€) Ggur (D)

ARl 2 uoeanye 3RS ¢
(A) IS _ (B)
(C) A el ol o3| e (D)

Aol s UoEA Uy @B\l S 9
(A) Me¢lory (B)

(C) YRld- (D)

‘Ageredl ... el |l AR e ey’
(A) ! (B)
€ ;3 (D)

BERIR

A%YRY

seM-L

UIAE

G 2R$
tseis BesraL

RdeA
e

et R VUSSR
o[-l A et

RIS
SHMR

Ul oL A QR0 34,

3
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(65) F

SECTION.1v ) gug _ v
v(b) Social Studies, Both, ﬂi :U;Sect.mns L.e. 1V(a) Mathematics and Science and
Ub-sections consist of 60 Multiple choice Questions each.

vt 1 1V (a) % 2vem Ry sveren IV(b) "mies aregq, R w01 s snder-ga 3
mt.ﬁﬁﬁiﬁwwﬁwhﬁmwmﬂwmhtl

SECTION-IV (a) /@UE - [V (a)
MATHEMATICS AND SCIENCE /7R a1 R

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

W Evs i 5ot 60 w1 # | R anarfial 3 v formy w1 o e @ o ot v e i €

91. If ratio of the volumes of two cubes is 27 : 64, then what will be the ratio of their surface

(a:;}asg:tt (B) 4{[}
: (D) 33:8
QQQ;MWWZPME?ﬂﬂ%@#WWWWM?
(B) 4:3
4
R o _
. 4.a] pole is 264 m? and its volume is 1848 m>. What is
92, Area of curved surface of a cyllrjz-tigﬂca pole1s
the height of the pole 7 (use ® = 7
1:) e;g:-lo (3}) 3;:] o
(C) 5m @%ﬁgﬂﬁézgmgammmmm%mﬁ _
TF TSI
‘mréfa,—cu:nzv[,::%mﬂm‘J
l (B) 3 "I
O s ® ot
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ST.
F (66) T2
out of 100 marks in subject

ained following respective marks

93. 20 students of a class obt
Mathematics ]
54, 46,24, 36, 84, 70,16, 58, 6. §2. 44, 54, 32, 64, 8, 6- 52,28,

¢ of above will be

Grouped frequency distribution tabl

]
® :o Class | Frequency (B) :ﬂ Class | Frequency
1| 020 4 1| 020 4
2 | 20-40 5 2 20-40 6
3 | 40-60 6 | (3 | 40-60 5

4 | 60-80 3 4 60_._&_(1—_' """3"'""
5 180100 2 5 | 80-100 2

® :0 Class | Frequency ® r?u Class | Frequency
L | o 2 1 | 0-20 3
2 | 2040 5 2| 2040 5
3 | 40-60 p et 6
4 2 4 | 60-80 4
5 | 80-100 3 s 1 20-100 :

T FEE 20 BT} 3 iiTa e 3 100 i H | HEL: =y 37 W R
54,46, 24, 36, 84, 70, 16, 58, 6, 82, 44, 54, 32, 64, 8, 66, 52, 28, 164 30

T & affepa e grof ¥l

A |wd.| o | whewn | (B) |wE.| wi WA
|| 0-20 4 1| 020 4
2 |2040| 5 2> | 2040 6
1 | 4060 . 6 3 | 40-60 5
4 | 6080 3 4 | 60-80 3
5 | 80-100 2 5 80-100 9
€ |wE | @ | wwmar | (D) |wd. | « | wrwwEr
1| 020 4 1 | 020 ]
2 | 204 -
: 40_62 Z 2| 20-40 5
3 ]
4 | 6080 | 2 p :ggg 6
5 | 80-100 - 4
3 s | 80-100 >
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94,

95.

96.

97,

Note : I.?etails of marks obta; “ )
subjects of €Xaminatign of ol I‘ned by §
Obm!—ned by Seema in ass 6 are g
questions (94 & 95 .

€¢ma in Hindi, English, Mathematics and Science

these suhjgctsha“'" in diagram given below. Sum of total marks

Is 480, Read carefully and answer following

How many marks obtained by Seema in Mathematics ?

(A) 93 ~(B) 116 (€) 109 (D) 124
i 3 nfrr o fpe 3t wra R 0

(A) 93 (B) 116 (C)y 109 _’ (D) 124
How many marks obtained by Seema more in Hindi in comparison of English ?
(A) 36 (B) 48 (@ 2 (D) 30
dar X fet & ool &Y g 3 forem a7 axftres et e

(A) 36 (B) 48 () 21 (D) 30

Out of following which is not the exact characteristics of objectives of Mathematics

teaching in classroom. . '
(A) should be related to life (B) should be in behavioural terms
(D) should be specific

stabl
(ﬁ:ﬂﬁﬁq' Shogg:ggiﬁ;ﬁrw%ﬁfﬁﬁmmaﬂ%:
(A) o & geftm @R =Tt (B) sTaEIe val A g =Y |
(C) vt 3Fg @ FTMeT | (D) fafire g =fea

5 marks out of 80 awarded by different examiners in a test of
m

If a student get same : haractenistics of evaluation out of following :

Mathematics. this sShows which ¢ (B) Validity

(A) Obj‘ect'i\.fitb’ (D) Practicability ‘ P
(C) Reliability Wmaﬂﬁaaqﬁwﬁ g0 ¥ @ 42 37 WAH §

e ue foyameff o7~ - 2

%mnqﬂmﬁﬁ”ﬁﬁmm ®) aj;ﬁm? |

(A) awgfean aeaal

(C}) fryaftaar e

https://www.pyqonline.com
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98.

99.

100.

101.

102.

103.

(68) Ty

Out of following which is limitation of objective type questions 7
(A) Guessing

(B) Difficulty in construction

(C) Cannot measure complex process

(D) All of the above

Frferfya 3 @ s yom & et @ dm d
(A) TR T (B) Fmtor & wfeamg
(C) eyt R 3ymaEn (D) IR &

Out of following which of the teaching method in Mathematics is difficult to use in formg

classroom situation ? _ '
(A) Inductive (B) Deductive (C) Project (D) Analytic

ﬁﬁmﬁﬂmﬁﬁmﬁﬁﬁMWmﬁmmﬁi?
(A) FTTRIGH (B) Prmam® (C) WA (D) farvereumars

Out of the following, Language of Mathematics is .
(A) Symbolic (B) National (C) Complex (D) Vedic

ﬁq%ﬁiaﬂﬁﬂﬁmiﬁﬂmt:
(A) Hharoqs (B) i (©) =i (D) A=

Out of the following, Mathematics in a strict sense is a
{A) Concrete Science (B) Abstract Science
(C) Physical Science (D) Relative Science

3 3 vt aret e 2
(A) 7 fam (B) e fagm
(C) s s (D) wmifdrs famm

Cut of the following which is not the characteristic of reasoning in Mathematics ?
(A) Accuracy (B) Centainty of result

(C) Originality (D) Subjectivity

TRT &Y mfdenar Y Rrdyar Rerifea 3 @ TR

(A)  Tga (B) uftorm &) fifeaaar

(C) wferaman (D) fawa-frem

Out of the following, what is most important characteristic of oral work in Mathematics

for school students
(A) It develops mental process (B) It saves time
(C) _Not require paper pencil (D) Able to solve questions ora]] y

maam%m*mmﬂmmﬁmww
£:

(A) amwhmmﬁmmm

(B) FquuwErftd

(C) TR-Vet F navarwm T |

(D) % &9 8 T B vt w0 g wret R |
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51‘,1
104.

105.

106.

107.

108.

Out of the fﬁllowing whic (69)

particularly mogt useful gadget of [ ) o _
(A) LCD-Projector for teachipn, nformation and communication technology is

E 8raphs ang 7
(©)  Interactive geometry

White B, (B) Slide Projector
m ﬂ ﬂ m &rd . (D} TeleViSiDﬂ

m .
L N T NP N -
(A) A, Wy
© I Bw e o N

(D) ¥

The synthetical method h TR
(A} Induction Saould be used t teach Beometry in school after following
(C) Analysis E.g; gﬂtheﬁ‘s
forarerg o S . uction
wTee : Wﬁ%ﬁ“‘é"""mﬁrﬁmmﬁm ¥ vvarq fear 9T
(A) STTE (B) weerawr
Value of'\J- 3 +Q84 + lB:j?. is it A
(A) 3 (B) 3 "
(€) -3 (D) ©
3 +\/84 + 183w AR
(A) 3 B 3
© -3 (D) 0
I (4%7 - 496 + 495) = k.4%, then what is the value of k ?
(A) 16 (B) 64

4
(C) 13 L %
1]& (49'? — 4% + 495] = k.495ﬁriﬁ k HTHRAAA S -

64
(A) 16 g 4
€y 13 )
5a2 + lSa-—-6b-2ah= ®) (Sa+2b)(a'3)
(A) (5a+2b)(a¥ 3) D) (5a-20)(@+3)
(C) (5a-2b)(a-3)
5a2 + 15a - 6b — 280 (B) (5a+2b)(a-3)
(A) (a+2b)(8+3) (D) (5a-2b)(a+3)

(C) (5a-2b)(a—3)
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3
]

109. What is the value of ! + *\3 fl?Tz ?
{ 8
000

(A) 9 (B) 3
(C) 27 (D) 5
1 3192 - 2o
8 3 AR
1000
(A) 9 (B) 3
(C) 27 (D) §
110. If 2x - 3y = 79, x + 6y = 47, then what will be the value of {x - y)?
(A) 40 (B) 32
(C) 38 (D) 42
qfR 2x — 3y = 79, x + 6y = 47 B, A (x — y) T A FTEPT 2
(A) 40 (By 32
(C) 38 (D) 42
111. (3x + 5)% — 60x is equal to
(A) (3x+ 10)? (B} (3x-35)
(C) (3x+ 120 (D) (3x-12)
(3x+ 5)2 - 60x P o | Frmh o 2 7
(A) (3x+ 10y (B) (3x-5)?
(C) (Bx+ 120 (D) (3x-12)2
112. What percentage of 80 is 80 ?
(A) 64% (B) 80%
(C) 90% (D) 100%
80 %1 fra wfawa g0 & 2
(A) 64% (B) 80%
(C) 90% (D) 100%

113. A T.V. seller sold two T.V. at the rate of T 9,600. Out of them, he obtained 20% profit on
one T.V. and 20% loss on another T.V. How much profit or loss percentage is obtained in

whole transaction ?

(A) 10% profit (B) 4% profit

(C) 4% loss (D) No profit no loss
@éﬁﬂﬁmﬁaﬁl%w,ﬁmﬁaﬂa%ﬁhﬁmﬁmﬁﬁwé?ﬁhmutzu%ma
@i%anﬁmmzo%mﬁgiama\iﬁﬁmﬁmmmmﬁﬁ?

(A) 10% & (B) 4% M

(C) 4% % (D) FEwATA

2w e mm—

https://www.pygonline.com d
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e
i|-|'.

15

116.

7.

n
- ﬁglf ;;:;mkm “Omplete 3 155 . ‘
ﬂﬁl o Y workers will pe requireg < 225 I this task is to be completed in 4 days,
( .
) ﬂ::f Egi I8
Aoy T 2 WHAE | aft 7x g 4 7 3 e @), Pt
() 20
B

o F

imple interest is ¥ .
5:;11“?' ? 9% 080iin 5 years at the rate of 8%, then what will be the principal
Ay 1,280 B) 71600
() ¥3,200 5 _

et (D) 2,400
R uq &1 B%ﬁﬁﬁiﬁﬁmm?moﬁ,a}wmm?
(a) ¥ 1.289 J (®) 21,600
© ¥3.200 (D) 22400

There is a target of increase in number of students in a University by 10% every year. Ifin
2016 this number was 1500, then in year 2018 on completion of target how many

students will be there in University ?

(A) 1800 (B) :g:;j

C) 1700 - (D)

;a;)ﬁsafaﬂmﬂﬁ R aret fefiat e 3 sfrad 10% gig 1 e c@r man & | AR

2016 3 @8 T 1500 Ht At = zmsﬁaﬂmﬁi@ﬁmﬁwﬁmmﬁﬁmﬁﬁuﬂﬂﬂ?

(B) 1815
© 1700 o) 1
n the diagram given below ?

Which condition applies of congruence of triangles 1

B> e
E
[ e
Je
A K <
- (B} RHS rule e e
(A) Side-Side—Sld%m::’le (D) a,;:il:-Sld? »_:;& %r; 3
“ Side‘g;gj;'& % g gatrea # s
A3 e ma gl .
C
A (B) m‘ﬂﬂ“-ﬁ“f'wﬁ""
—sga-hor
) o3 Dy FI-TT
(C) YE-HT- s

https://www.pygonline.com
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118. Correct pairs of dissimilar sgpplementary angles

119.

120.

(72) ST-2

in the following diagram are

E
(A) ZDFE and ZEFA; ZAFB and Z/BFD

(B) £DFE and ZAFB: ZEFA and ZBFD
(C) £BFD and ZEFA: ZAFB and £DFE
(D) ZAFC and ZDFC: ZAFB and ZDFE

ﬂ%f&ﬂnﬁﬁaimﬁmaﬂvﬁ%w%i:
C
B
A< >D

(A) <DFEW ZEFA; ZAFB® /BFD
(B) ZDFEW ZAFB; ZEFA S /BFD
(C) <BFDW ZEFA; ZAFBd /DFE
(D) ZAFCd /DFC; ZAFBd ZDFE

Two paralle] sides of a trapezium are 10 cm and 16 cm respectively. If area of the
trapezium is 78 cm?, then what will be the height of the trapezium ?

(A) 13cm (B) Scm

(C) 6cm (D) 8cm

T GHed SgU 2 T T A 10 3 T 16 3 | R wHew T 1 Aee
78 71 At W), o 3w Sard g vt 0

(A) 13 %8 (B) suh

(C) 6wt (D) 8ah

What will be the circumference of half part of a circle, whose diameter is 56 ¢cm ?
(use n= 2_72')

(A) 44cm (B) 88cm

(C) 22cm (D) 66 cm N

St 0 e T et s < o @ 2 ( = 2 i )

(A) 449t (B) 88 &

() 22adt (D) 66 B

https://www.pygonline.com
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121.

122.

123.

124,

(73)

Cristae are found in which
_ cell organelle 2
(A) Golgi bod; .
A g1 bodies (B) Mitochondri
(C ndo!:)lasmlc reticulum C

R S A B gy

(&) Tiesir (B) mrRrwiog

(€} F-wgsd i (D) ehadas

f‘:};i‘:h 1s an insectivorous plant ?
Cu ' 1 '
_?:%;Eﬁqmi ?(B) Utricularia  (C) Monotropa

(A) g B) gka () HeR

—_——

Which is a red planet in Solar system ?

(A) Mercury (B) Venus
(C) Mars (D) Saturn
Wovsa d T me SN a2 2 ‘
(A) 4 (B) T
(C) = (D) =¥

DOTS is a short form of

" (A) . Directly Observed Treatment, Short Course

125.

(B) Directly Observed Treatment Scheme

(C) Distantly Observed Treatment Scheme

(D) Distantly Observed Treatment Schedule

DOTS, RrashI ag @&I & 7

(A) weaw Mfa 3w, g™ (B) weas e Igem A

(C) qmmwlﬁﬂ (D) Wmmm

Which food group is richest in energy in terms of kCal per gram ?

(A) Cereal, Millet and Pulses
(B) Vegetables and Fruits

(C) Milk and Milk prﬂdu‘; s
: d Nuts & Oils
o s g, fch i s 7 ST, S

(A) 3, Prde @ 7
(B) wfewal T& ot R
(©) IR, I, T

(D) 1= &1 G gg%e 3 AT

ts, Egg,. Meat and Fishes

https://www.pygonline.com
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126.

127,

128.

129,

130.

N

(74)

mch one of the following statement is correct with reference to Luteinizing Hormone
)?

(A) It stimulates Leydig cells to produce testosterone.

(B) Itis a neurohormone.

(C) Itis secreted by Graafian follicles.

(D) It does not show synergism with FSH,

wm%éﬁﬁﬁqﬁaﬁqmmma?

(A) u?ﬁ&nﬁﬁmﬁﬁ%@@qm%ﬁqmﬁamil
(B) WuFabmgmiag)

©) wIhr s Aafaeami

(D) =% FSH % wry wend 7 goitn R )

The strategy of alternation between sex

ual and asexual reproduction is known as
(A) Polyembryony

(B) Parthenogenesis

(©) Heterogamy (D) Apomixis
i T 1t o 3 e e 9 SRR e
(A) wgyumn (B) ¥
(©) g (D) A

Objectives related to affec,tiﬁf: domain mainly concerned with
(A) Knowledge (B) Application

(C) Valuing ' (D) Comprehension
TG T4 ¥ Tafa 339 e §9 & wrafl

(A) TR (B) M

(C) I (D) Y

Which one of the following is not a characteristic of a good test ?
(A) Reliability (B) Planning )
(C) Objectivity (D) Discriminatior
freferfa & @ 3t @ fRsva & s vt a8 2 7

(A) frvaeia (B) T

(C) wwgfEm (D) - faieaian

An example of projected teaching aid is

(A) Bulletin board (B} Overhead projector
(C) Chart (D) Model

waidt Rveror aTft 1 O IgE

(A) TRRAAE (B) ks Wit
(C) =i (D) wigA

-
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31,

132.

133.

134,

138,

Out of the follow; (75)
Ing which

(A) Lecture- teach; _

(B) Lect o cum-Demg Stratj '8 method gives importance to the mental conclusion ?

ure me[hﬁd 1on methﬂd al conclusion

(C) Problem solvi

(D) Lﬂboratory m:ﬂg.l:;e[h('d
4 Ilgllhﬂﬁﬂ?ﬂ?@{ﬁmq
Tt s,
R TRy o S
(C) SO T iy o mmﬁg&

Out of the followip i
3 8 which
(A) Scientific laws 11 comes under “Product of Science" 2

(C) Formulation of hypotheg; (B)  Scientifie attitude

frafafaas § 3« (D) Experimentation

P TR &5 3702 % et s 7
(A) fram

(B) Amfyw

(©) R (D) Wi
Out of the followi ich i - : '
of teachineg ’ owing which innovative teaching method covers all domains of objectives
(A) Tca_m teachi_ng (B) Micro teaching
(C) Brain storming (D) Programmed instruction
Praferfaa & & +\7 @ Farart A Rty 3 fugo S 2wt F ot ozei s omu an d 7
(A) = Py (B) g frgm
(C) wftres g (D) frwla FpRw

Which type of teaching should be planned after diagnosting the leaming difficulties of the

students in science teaching ?
(B) Team teaching

A) Micro teachin
A) ! & (D) Remedial teaching

O el it e e v o g ) e

ot =fdd ? e o
(A) g o (B) S
©) fremes R (D) IR
rocess of determining the extent 10 which educational objectives are
A systematic P )
achizsved by the pupils 15 kno aS(B] Evalustion
(A) Training (D) Experiments
) Diag:nosisﬁﬂmtﬁimammﬁmﬁqﬁmﬁmtﬂaﬁﬂ%
R (B) g
w s e
©)

https://www.pyqonline.com
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F (76) ST-2
136. “Defining” Action verb is related with which behavioural objectives ?
(A) Affective (B) Psychomotor
(C) Cognitive (D) Affective and Psychomotor
“gRoire 0" BT T vy wEE St d wafRa d 7
(A) VAT (B) wAwaTe®
| (C) WHHTHS (D) WIETE® T8 HAFATEE

137. Out of the following frame of Linear Programmed Instruction, which of the following
frame is exactly related with teaching-leaming content ?

(A) Teaching frame (B) Introductory frame

(C) Testing frame (D) Practice frame

Talr sfinsfia i § Piffe v @ @9 o v Pite w18 v o aref Rvaasg
Agafim e ?

(A) Rewez (B) a0

(C) vlmuug i 4 (D) IUTH Y

138. An object of mass 0.75 kg is hanging from a string attached to roof. What will be the force
[ applied by string on the object ?

(A) 845N (B) 735N

; (C) 685N (D) 98N

| 0.75 kg TS %1 T g B & 2t St & eres g R | 3l gwn fve w foraan we o 2
(A) 845N (B) 7.35N

| (C) 685N (D) 98N

139. Which of the following statement is true for an oscillating simple pendulum ?
(A) Potential energy is minimum at maximum displacement position.
(B) Potential energy is maximum at maximum displacement position.
(C) Kinetic energy is minimum at equilibrium position.
(D) Potential energy ‘s maximum at equilibrium position,
% O HR W EE dew » R it d s arswmaa
(A) At R TR s 3§ Rl sat e R |
(B) ftram e aren & Rufow wof st 11
(C) TR e & e e 2pem & |

(D) mmﬁﬁlﬁamaﬁml I
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dl.

[42.

143.

144,

148,

which of the followip ™ i
8 tem
(A) —8°F PETature is not pogsible 7
© -8k ) ~EeC
P 3 8 B M g gy, 6 CR
(A-) -8°F . B
© -8k o 2C
— DR
| joule is equivalent 1o
42k
(A) Cal (B) 4.2cal © <-kca (D) == Cal
g B 42 4.2
A) 4.2 kCal 1
(A) (B) 4.2cCal (€©) Z5kCal (D) fg Cal

;V!-;ga}:tsfl:ould be the minimum height of a plane mirror to get full image of an object of 2 m
€1 H

(A) Im (B) 2m (©) 4m (D) 05m

T R UO1 # 2 m ek Y T ol wiifiea 3w & R zdo € <Eem S feeh
£t =it 2

(A) ITm (B} 2m (C) 4m (D) 05m

Sound transmission takes place as .
(A) Stationary transverse wave (B) Progressive transverse wave

(C) Progressive longitudinal wave (D) Particle form
tafy &7 waer gar

(A) IR AT T F #*
() el ymft & w3

(B) aqgumwtﬂmwﬂ
(D) w01 @69 o

: . is a Green-house gas
Which of the following s 8 (@) Hydrogen

(A) Nitrogen (D) Nitrous Oxide
(C) Oxygen ra?
# TR T8
Pty F A 9F © R
2) Wm (D) T ST
)

: tride is
momum nitn
Chemical formula OFATB) (NH4)2N3

(A) NH;N %-
aﬁmwﬂ@‘gﬁg{‘h& (€) (NH)N

(A) NH,N

©) (NH,),N D) (NH)3N2

(D) (NH;N:

https://www.pyqgonline.com


https://www.pyqonline.com/

e e T

f (78)

146. Monomers used to prepare artificial fibre Dacrop is
(A) Ethylene glycol and Acrylonitrile
(B) Ethylene glycol and Vinyl Chloride
~ (C) Ethylene glycol and Terephthalic Acid
(D) Ethylene glycol and Acetonitrile

0 a0 3T T e e @

(A) Wfrefa e aen Yergzes
(B) el wemeenier o v seies
(€©) i =gt awn Rl anar
(D) efrefts emeasier o Qetevereer

147. Antacid substance used for the treatme

(A) Caustic soda (B) Caustic Potash
(C) Milk of Magnesia (D) Lunar Caustic
ST T TN 51 ITER N F Forw g ey avvet 2
(A) Wi aer (B) wife 9w

(€) s 31w difdmn (D) W TS

148. Coal containing maximum percentage of carbon is

(A) Peat (B) Lignite

(C) Bituminous (D) Anthracite
wien Rt s 6 waiftes sfvam

(A) (B) frme

(€) fagert (D) V3T

149. Which of the following is an output device ?

(A) Magnetic Ink Character Recognition (MICR)
(B) Optical Character Recognition (OCR)
(C) Optical Mark Reading (OMR)
(D) Visual Display Unit (VDU)
FrefaRas 4 @ 917 @1 sneeqe gww § 0
(A) AAfew & gt @i (MICR)
(B) et Higet ke (OCR)
(C) JifRwa b ¥ (OMR)

- (D) Tagar fewat gfz (VDUL)

150. Who discovered Penicillin ?

(A) Edward Jenner (B) Robert Hooke .
(C) RobertKoch (D) Alexander Fleming
It # @t frm 1 7

LSRR B) THE
Ez; fat B (D) e T
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sT-2

are 60 questiong .
Ther€ N all in th; ec
t answer all the : 'S section, Candidates w ve se i ic
U questions. °n. The candidates ho have selected this subject

91, What does ‘we the

 din mens 2 People of India aS mentioned in the preamble of the Constitution of
(A) Sovereignty lies with the Chief Justice of Ing;

(B) Sovereignty lies with the People of India o

(C) Sovereignty lies with the Political Parties of Indig

(D) Sovereignty lies with the Speaker of the Lok Sabha

m%ﬁﬁmﬁmmﬁﬁ%mm%aﬁwﬁwm%?
(A) EEHYA WRA & e wardta § fifka 2 | '

(B) EFNYAT ¥R & @i & Arfva ?

(C) wm%mﬁﬁzﬁﬁﬁﬁ%ﬂil

(D) wm%mmﬁﬁftﬁl

92. Under which Article of the Constitution of India untouchability was abolished ?
(B) Article 17

(A) Article 16
(D) Atticle 19

(C) Article 18 -
s 3 F %mw%mmaﬁmmwh
(A) Iz 16 @ R

) TG 19

(C) g=B% 18

Constitution of India the Fundamental Duties are enshrined ?
e Con

%. In which part of th (8) Partll
(A) PartV . (D) Part VI
C) PartIVA ' TR 7,
iﬂ{)?l 3 art ¥ frd o q q ﬁaﬁ o st
F @® ¥l
(A) w\|m-V -Vl
1)
(C) wm-IV-A
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9%,

96.

97.

(830) ST

Article 25 of the Constitution of India is related 1o

(A)  Freecdom of Conscience and free profession. practice and propagation of religion,

(B) No discrimination would be done on the ground of religion, race, caste, language
any of them.

(C) Right to education.

(D}  Minority Institutions.

WIS AU 1 3 25 Tt 2

(A) 370701 Y waa aut RRHt wd % qrem, anarg stk war 6 @

(B) v, yeraw, wfa, st 1 54E @ e 3 s é Rewr 7@t R |

(C) T 1 sty

(D) IregEETs gremd

Which of the following is not a constitutional provision related to Social justice ?
(A) Reservation for SC and ST in Government jobs,

(B) Reservation for SC and ST in Legislature,

(C) Equal pay for equal work.

(D) Prohibition of Child Labour.

ﬁnﬁﬁnmﬁmmﬁaﬂﬁmf Tor gafres Wy A# 2

(A)  IrafRm s & e St X w et s
(8) forforee & srqgfert st sty g s

(C) ¥9H %/ & TUE A7

(D) =7 3 fy

What is the Quorum required to run the proceedings of the Lok Sabha ?
(A) 1/4"™ of total members (B) 2/3"of tota] members
(C) 1/3™ of total members (D) /10" of total members

THETT ) FIaTE & FETe & oY Smavas o d 2
(A) T G GG HT 1/4 91 W01 (B) 0 HEH WEHTHT 2/3 9f vy
(C) Fe1 43 G H1 1/3 T 9T (D) et 6 § H1 1/10 71wy

Which Article of the Constitution of India provides for a Council of Ministers which shall
aid the President in the exercise of his functions ?

(A) Article 74 (B) Article 78

(C) Article 79 (D) Article 80

VTG & GREE & $1 ¥ gde ° v ufyeReg 1 waum @ Y 5 apefy @) sgs el &
fiyefga © G@TEA ¥R FO1 ?

(A) % 74 (B) aa%@?;z

https://www.pyqonline.com
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R e

"

§1-%
who appoints
8. (A) ChiefElihe_ State Elﬂ(‘:lio @1
T Election Compmie. " “OMmig;
(B) President of I, dia mzsmunerg” 10ner ?
(C) Govemor of the

c
(D) The Legislative A(;::::ged State

T T IR Y iy g OF the Stay
(g) “““*E@ﬁaﬁqﬁﬁmmé? )
© T 1 g {D]) wn:;mﬁuﬁw

. £ Statem

A Th cnts reo :

(A) o fntP lfﬂﬁildEnlt of India can scel%atl:;ngthe Supreme Court of India is not correct ?
Interpretation of the Constitutign " *° O SUPreme Court in th

(B) Itisbindingu Onstitution, 0 the matiers related

(C) The Prﬁidcntﬁgz:,}:igﬁ;ﬁme Court to advise the President

(D) The Government can make z‘ac‘:epl the advice given by the Supreme Court.

the advice of the Supreme Coﬁ:lecessary amendments in the proposed legislation on
I8 % TS Ao & Faey 3 et @ e w e w2
(A) HiRreT 6t ST & wafR R et v e wet wawer & vomd dn s |
(B) Wﬁmﬁﬁﬁﬂﬂﬁﬁmﬁmaﬁw%l
(C) Tgafd gat= = g fed M wwd e dgama i )
(D) Tl ATATET 3 TR SER SR e e § s g S R |

)

100. Electoral College for the election of the President of India consists of
(A) only the elected members of Lok Sabha
(B) all members of Lok Sabha
(C) only the elected members 0

5. selatt i
of the Stals he Parliament of India and the Legislative Assemblies

ly the elected members of .
) g?‘tic States and Union Territories of Delhi and Puducherry.

m%wﬁr%w#ﬁaﬁﬁmﬁﬁ
(A) a:aaam:ﬁ%ﬁafﬁﬂw |
() i & W 3 s s e
: #) faur-a4l .
©) wgﬁf‘wﬂmwwﬁmwm@aﬁm.mﬁm
(D) W

f the Parliament of India and the Legislative Assemblies

Sparer Praffod ¥
101, Longest rver of ASia 15 {B) Yang-ti-si [Yaﬂgllﬁ]
(A) -Hwang-HO (D) Lena
C) Mekong _
‘(lﬁ)rﬂ'liﬁ‘m'ﬂﬂﬂ“ﬂﬂt (B) ﬂi‘l[-'?ﬁ—iﬁ (IlTﬂ’rFﬁ)
(A) iiﬂ_*i" (D)
(C) WHIT

https://www.pygonline.com , ‘
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(82) ST

102, Kilimangao mountain lies in which country 9

(A) Tanzanja (B) Kenya

(C) Uganda (D) Rawanga

%ﬁaﬁﬁaﬁi«iﬂﬂm% ?

(A) T (B) =

(C) gmizm (D) wrEy
103. The average temperature at Stratopause is

(A) 43°C (B) ~50°c

(©) 100°C (D) o°C

TS H T aherm e e 2

(A) 43°C (B) -50°C

(€) 100°C (D) 0°C
104,

Basalt rock is an example of
(A) Hypabyssal rock

(B)  Extrusive Igneous rock
(C) Plutonic rock

(D) Metamorphic rock
1 & Fererr &
(A) IwmaTeRy e (B) w1 3miy A
(C) rawitg e (D) wrialy da
105. The average energy flow from one trophic level to another is
(A} 15% (B) 5%
(C) 10% (D) 20%
@mmﬂ@mmmaﬂmﬁwmﬁmé
(A) 15% (BY 5%
€) 10% D) 20%
106. Whose emissary was Magasthanese ?
(A) Alexander (B) Bindusara
(C) Wilson| (D) Selucus
ot o
(A) T (B) fagun
© e (D) Ve

107.

Who was not the Navarata of Chandragupta I1's court 2
(A) Varruchi (B} Varahmihir

(C). Dhanvantri (D) Fahiyan
ﬁ:{aagnﬁ?hwﬁmmﬂmmmm?
(A) iy (B) wuzidfic
(C) wHE=R (D) SR

https:lfwww.pyqonline.pom ) y
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108

109

»

110

11

112. The capital of the Matsya Janpad was

113.

(83)
€ '
:Ah)e n?mogr::z};mna Pratap’s el?l;? nt Cho
(©) Mardana D) Vhetak
RO WA 3 ¥t 1A eer Prasad
(A) THHHTG (B) Y=
(C) WG (0) drwre
Social refg!-rr}er (jjlovind Guru was born in a
Pandit tami

22; Banjara fam?iy E[B)l) f:}:?:d’:ra‘f“ai)fl
AT G T, 1% 1 54 331 Yy

(A} yfga Wﬁ (B) fram aham i

_ Who wrote ‘Chetawani Ra Chungatya’ ?
(A) Pratap Singh_Barhath (B) Jorawar Singh Barhath
(C) Rao Cfopal Singh (D) Kesan Singh Barhath

v v gear e v ?
(A) WATIRIE THES (B) WaarfiE anEs
() @ i (D) Fuliftr aEs
1. Who arranged a scholarship for Veer Vinayak Damodar Sawarkar for his higher education
in London ?

(A) Shyamji Krishna Verma (B) Subhash Chandra Bose

(C) Ras Bihari Bose (D) Mohan Singh
Wiﬁwmm%ﬁmmﬁmmwgﬁlﬁmﬁwﬁﬁaﬁ?

(A) v g i (B) Wiﬁﬂ
(€) vafE (D) FEARTE

(B) Virat Nagar

(A) Champa

(C) Kushinara (D) Gokulpura
T FA9g Y o ot

(A) == g) TrEm
(C) TR (D) TEFTI
‘Anand Templc‘ of Pegan D}’l’lan)" s located' in
(A) Pakistan " (B) India
(C) Myanmar (D) China
& e Wi i e

(A) wfeEm™ (B) ¥
(C) WM D) ¥
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114,

115,

116.

117,

118,

(84) 18!

Who won the battle of Tarain (1191 AD) ?

(A) Amo Raj Chauhan (B} Mohammad Ghori

(C) Prithvi Raj Chauhan (D) Govind Raj Chauhan
TR H1 52 (1191 §.) v ey

(A) i e (B) ez myfy

(C) i S (D) M= dem

Which dance form of Rajasthan is included jn intangible cultural heritage list of UNEs(y,
in2010?

(A) Geendar (B) Kalbeliya

(C) Bhawaj (D) Kachchhi Ghodi .
THYR 1 R 1 F w 2010i%@(UNESCO)ﬁWW m@ﬂm
Rmant

(A) ffzg (B) wweniferm

(C) warf (D) =t ard

Who was the husband of Saint Meera Baai ?

(A) Bhoj Raj (B) Ratan Singh

(C) Narpar Singh (D) Sangram Singh
ﬁarhmﬁ%wﬁfmmm

(A) SRr (B) twftw

(C) Tvafy (D) T

Painting Schoo] ‘Bani-Thanj’ s related to

(A) Satwant Prasad (B) Nagri Das

(C) Mrigawati (D) Shiv-Paryatj -
ferrwen i qoft-gofp quaftra @

(A) AT yare (B) e

(€) e (D) fira-urd

Who was related to Dadrewa village of Chyn, district 9

(A) Pabuji | (B) Gogaji

(C)  Harbhyjj ‘ (D) Devnarayanjji
™ &atmmamg

(A) wmgh (B) e
©) woph (D) IsAmrvrh
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§1-2
19.

120.

121.

122.

123.

Who among the foljgu: (®9)

- Wing sacri
(A) Padmini Dey; crificed her Jife in Khejarali Movement ?
(C) Meena Dey; (B)  Karma Devi -
(A) qﬁFﬁEEﬁ ”:”hmaﬁﬂﬂ?
©) i (B) wmi 24t

D) w2

Who wrote ‘Vande Ma '
(A) Bankim Chandrat(a‘?;ntta:;e:mk FAnand Math'2
(B) Vyomesh Chandra Banerjee

(C) Vipin Chandra Paj

(D) Ravindra Nath Tagore

TR ARG 7' H T ey e for 2

A) ' (B) samyrag wel
(©) R (D) ez B
Which G.f the following place is not connected by National Highway No. 152
(A) Jaisalmer (B) Barmer
(C) Hanumangarh (D) Bikaner
Frafafea 3§ & F17 71 =R v ool sen- 15 T TR g9 R 7
(C) THHTe (D) R
Which of the following is the Jargest man-made soft water lake in Rajasthan ?
(A) Pichhola (B) ! ai'samand
(C) Fatehsagar (D) Rajsamand
ﬁmﬁl’@ﬂﬁﬁmﬂﬁtﬂ%wﬁhﬁmmmﬁﬁasﬂamwﬂ% ?
(A) fsien (B) SHEEH
(C) HAEEPT (D) TEHG
The devotees of Vishnu Were known s
(A) Nayanars (B) Pashupatas .
d (D) Lingayats

(C) Alwars
v 3 vyerr e &

(B) YN
(A) TR .

(D) fermrEa
(C) ATAR
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(86) Sty

124. In which one of the following source mentioned the Sixteen Mahajanapadas in Ancien,
India is found ? _

(A) Anguttar Nikaya (B) Divyavadana
(C) ) Rigveda (D)  Suttapitak
ﬁwﬁmﬁﬁﬁaaﬁaﬁmm%!ﬂﬁzmﬁmmﬁﬁi ?
(A) AT frem (B) Reuraem .
(C) =we (D) Hufies
125. The old name of the river Ravi was
(A) Suvasty (B) Kubha
(C) Parushni (D) Dwashdwati
Tt 5§ 1 wrftw =y oy
(A) Fawyg (B) Fn
(C) wewift (D) wygd
~ 126. The capital of Shoorsen Janapada was
(A) Mathura (B) Vrindavan
(C) Indraprastha (D) Kurukshetra
(8T FA9R i T of
(A) w¥q (B) IR
(C) THTY (D) Fo&
127. State ‘Rajasthan’ finally formed on .
(A) November 01, 1956 {B) May 15, 1949
(C) March 25, 1948 (D) January 26, 1950
USY T A iyl w9 3 39 Rl ) s ama
(A) TR 01, 1956 (B) W15, 1949
(C) T 25,1948 (D) “si=7ad 26, 1950
128. Social Studies is taught at
(A) Secondary level (B) Senior Secondary level
(C) Graduation level (D) All of the above
qrIfe ey o g P s
(A) UTHDF &R (B) 3 WS TR
(C) €% &R (D) IRT ot
129. Taxonomy of objectives in education is given by
(A) John Dewey (B) Smith
(C) B.S.Bloom (D) LK. Davis
farer o et 1 weffercor fan e 4
(A) WS (B) famgm
() @@ =@ (D) . %. fe| grr
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1 )
[ * of curriculum includes (87)

o A Internal activities of 5

tho School
€ Bt @; them . {g’) izt:;n:# sctivities ofaschoo
A) faaTerd it Iaf foramd
o IR (%) Frarera 1 ar
( (D) i
78w

3l (sz;ialtséu::::; :‘ixt book should
the Teach (B) thes
mqff;",ﬁ-;(c} m{: e;ﬁ (D) lh: C::f:;:m t
| IR, e R
(A) TEHH B) frumfs
© RS (D) wERH

be according to

132. gocial Studies teacher is telling th . _
using the technique of g the sequential process of election in classroom. She is

(A) E:.cplana_tion (B) Narration |

(C) Discussion (D) Questioning

aTire 3eaaa 6 eyt S d gAE ) wives wiea s @ R | o fore Wil %1 w@m
w@L, e

(A) ST (B) ®ud

() dha= (D) SRR

b 133, Social Studies teacher should give emphasis on

(A) giving information related to subject.
(B) developing thinking power of students towards social issues.

(C) preparing students for exams.

(D) language development of students.
avnfores A 5 e H T &N

(A) Rww A gaftra gET A W
(B) ﬁuﬁﬁﬁmﬁﬁmﬁﬁuﬁﬁmwﬁﬁ%faﬂw
(C) Tararf¥fat H g S mmmﬁm

(D) FrenfRfal & Wil @ |

cal places 18 useful in Secial Studies teaching for

134. Visiting histori :
st in subject.

(A) creating intere : _
(B) providing first hand information.

(C) better understanding of content.

(D) All of the al:u:we.ﬁ i N

(A) ﬁwaqgﬁqﬁmmﬁﬁ (B) mﬂmmﬁﬁ
© ﬁmﬁmmﬁ (D) IW®
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135,

136.

137.

138,

139.

140.

(38) ST.
Bloom's lesson plan is based on
(A) Objectives . (B) Content
(C) Presentation (D} All of the above
&0 ) 1S AT g 2
(A) JHER (B) fawag o
(C) wgfos x (D) e oy

The project is that purposeful work which is done with complete devotion in the sociy)
atmosphere. This statement is that of

(A) Bloom (B) Crow and Crow

(C) John Dewey (D) Kilpatrick
mﬁm@Wﬂ%ﬁﬁm%mmmﬂMWﬁlwmﬁ
(A) & (B)  wzm

(C) I3/ (D) = e

In Social Studics which of the following test provides an opportunity to evaluate student's
independent thinking ?

(A) Objective type test (B) Essay type test

(C) Short answer type test (D) Very shont answer-type test

mﬁmmﬁﬁwﬁﬁ@qmmsﬁ%mﬁmtmmmmmi?
(A) TgFe JwR A vl (B) Frewrers yer 4 giten
(C) Y- yor A Wl (D) A —eTeErI wehrt ) vl

Which of the following is a *Rabi* Crop ?

(A) Jute (B) Groundnut
(C) Mustard (D) Water-melon
ﬁnﬁ-r%aﬁﬁﬁqzﬁ*rﬂ'mi?

(A) ¢ (B) qmeeh

(C) wuE! (D) wEqH

Sadia to Dhubni stretch of Brahmaputra river is connected by which of the following
Inland National waterways 7

(A} National Waterways No. | (B) National Waterways No. 2
(C) National Waterways No. 3- (D) Naticnal Waterways No. 4

ﬂw%mﬁ&%amwaw*mwwﬁ‘mﬁm'ww'ﬁmmi?
(A) T STerr wea- | (B) Ui Jermi g2
(C) U¥R Semrf g@ar-3 (D) T¥H Jert G- 4

What was the male literacy rate in India as per 2011 Census ?

(A) 82.14% (B) 65.46%
(C) 72.36% (D) 78.30%
2011ﬁm%mmﬁ5mmmafa;a:ﬂaﬁ?
(A) 82.14% (B) 65.46%
(C) 72.36% (D) 78.30%
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7’

51‘.2
41

142.

143.

144,

145,

| (89)
The winter rainfall in indix
(A) Arabian Seq " India is the result of eyclones. which originates from
pa Red Sox (B) Bay of Bengal

(D) Mediterrancan Se:
© i - cditerrancan Sea

jiceasict I B I T
HT YRR 2 ?

(A) IE WR ; |

(B) wma
(C) e ¥R (D) ey aﬁw

IR

The area in Indo-Gangetic plain where

internal channels re-emerges is locally known as

(A) Tarai Region
y ~ (B) Bhabar Region

(C) Bangar Region

L (D) Cho
Ry~ < A F, ot @ TR ¥ G- Yoz 2l 2, v & e el @
(A) TN (B) S&URRW
(C) TR SW o =
Which of the following energy resources is credited to tri gger modemn industrialization ?
(A) Hydel Power (B) Atomic Energy
(C) Coal (D) Non-conventional energy
FgfE SR & gur w1 e Preaff § @ Ry ol sama o d 2
(A) R (B) 3murfeeh il
(C) Sraen (D) N-vRPTA FHat

Which of the following State of India has banned chemical fertilizer for sustainable

agriculture ? https://www.pyqonline.com
(A) Sikkim (B) Arunachal Pradesh

(C) Andhra Pradesh (D) an
R (el waa) Fi 2g fefefies 3 & wra & frm w1 3 Temitis sd &

wPfigwfeare ?
(A) fuftem (B) FEUTEA WeHl

(C) W RN (D) M

Which of the following [ron and Steel Plant was established with the technical

collaboration of Britain ?
(A) g‘ﬂk‘ Steel Plant (B) Durgapur Steel Plant
oxe (DY Vijaynagar Steel Plant

(C) Raurkela Steel Plant -
ﬁ@lqalmq%mﬁayﬂnﬂggﬁ?
Prrfrfag & & fw efgl-Fea & 4
(B) Y T &5

(A) Wewm) FETE € 3
() Tracien ¥Td 49 (D) TR S e
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146.

147,

148,

149.

150.

(90)

: ' STy
Which of the f“”"“’iﬂg river is notorious for *Badland’ ?

(A) Chamba]

(4) Chamba) (B) Krishna
odavari (D) Tungabhadra

ﬁﬁﬁlﬁiﬂﬁ%m\qzﬁw*m iy (Bauila::d}55ﬁ-“ﬂl'&"@“""'l“’g d

(A) === (B) Fom

(€) Ted (D) g

The habitat of “Yakut® tribe is

(A) Neéw Zealand (B) Congo Basin

(C)  Amazon Basin (D) North Siberia

AR Tt 1 e (ar ) 3

(A) =it (B) - afim

(C) e IRE (D) 3Iwlt Wyt

Ghagghar Plain is situated in

(A) Gangdnagar and Hanumangarh Districts
(B) Jhunjhunu and Sikar Districts

(C) Jalore and Sirohi Districts

(D) Jaisalmer and Barmer Districts

gre 1 fg safem @

(A) TR R EEEG R d  (B) g aen dem Rt
(C) Ieian R RE (D) Seeri aon wreik Rt §

The first textile mill of Rajasthan was established at

(A) Ganganagar (B) Bhilwara
(C) Udaipur {D) Beawar
TSIRYTA 1 Y47 T/ I TR g3 o

(A) TR (B) ¥feraren
(€) AR (D) =R

As per 2011 Census, which of the following district of Rajasthan recorded lowest decadd
population growth rate ?

(A) Ganganagar Eg; gl.;:l::l

|
églng:mm%m,mﬁﬁm%mmﬁmmﬁa
=am T ?
(A) TR (B) ¥
) " (D) HiH
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REET 2017 5T-2 KEY

REET 2017 (5T-2) CHILD PEDAGOGY COMMONM (1-30)

REET 2017 (5T-2) LANGUAGE-1 ENGLISH {31-60])

Q.NO. E F G H ANS Q.NG. E F G H ANS
1 30 18 2 7 BONUS 31 56 51 46 41 A
2 28 19 10 5 D 32 37 52 47 42 A
3 29 17 11 6 BONUS 33 58 53 48 43 C
4 6 24 15 10 BONUS 34 59 54 49 44 B
5 1 25 16 11 B 35 &0 55 50 45 B
& 2 20 17 12 B 36 31 56 51 46 A
7 3 21 12 13 D 37 32 57 52 47 B
8 4 22 13 8 D 38 33 58 53 48 D
9 5 23 14 9 A 39 34 59 54 49 c

10 11 29 20 15 A,C 40 35 60 55 50 A
11 7 30 21 16 C 41 36 31 56 51 B
12 8 26 22 17 D 42 37 32 57 52 A
13 9 27 18 18 C 43 38 33 58 53 C
14 10 28 19 14 D 44 39 34 59 54 C
15 16 4 25 20 B 45 40 35 60 55 B
16 12 5 26 21 D 46 41 36 31 56 C
17 13 1 27 22 C 47 42 37 32 57 D
18 14 2 23 23 C 48 43 38 33 58 C
19 15 3 24 15 D 49 44 39 34 59 C
20 19 7 28 26 B 50 45 40 35 60 D
21 17 8 29 24 B 51 46 a1 36 31 C
22 18 6 30 25 A 52 47 az 37 32 A
23 23 11 2 27 B 53 48 43 38 33 A
24 20 12 3 28 C 54 49 44 39 34 C
25 21 ) 4 29 D 55 50 45 40 35 C
26 22 10 1 30 B 56 51 46 41 36 C
27 27 15 6 1 C 57 52 a7 42 37 B
28 24 16 7 2 A 58 53 48 43 38 B
29 25 13 8 3 A 59 54 49 a4 39 B
30 26 14 5 4 Cc 60 55 50 45 40 D
REET 2017 (5T-2) LANGUAGE-1 HINDI {31-60) REET 2017 (ST-2) LANGUAGE-1 SANSKRIT (31-60)
Q.NO. E F G H ANS Q.NO. E F G H ANS
31 56 51 46 41 B 31 56 51 46 41 B
32 57 52 a7 42 A 32 57 52 47 42 A
33 58 53 48 43 A 33 58 53 48 43 C
34 59 54 49 44 C 34 59 54 49 44 D
35 60 55 50 45 D 35 60 55 50 45 B
36 31 56 51 46 B 36 31 56 51 46 C
37 32 57 52 47 D 37 32 57 52 47 B
38 33 58 53 438 C 38 33 58 53 48 D
39 34 59 54 49 D 39 34 59 54 49 C
40 35 60 55 50 D 40 35 &0 55 50 B
41 36 31 56 51 A 41 36 31 56 51 D
42 37 32 57 52 B 42 37 32 57 52 C
43 38 33 58 53 C 43 38 33 58 53 C
44 39 34 59 54 D 44 39 34 59 54 B
45 40 35 &0 55 BONUS 45 40 35 60 55 D
46 41 36 31 56 D 46 41 36 31 56 A
47 42 37 32 57 A 47 a2 37 32 57 B
48 43 38 33 58 B 48 43 38 33 58 C
49 44 39 34 59 A 49 44 39 34 59 D
50 45 40 35 60 BONUS 50 45 40 35 &0 A
51 46 41 36 31 A 51 46 41 36 31 B
52 47 42 37 32 C 52 47 42 37 32 C
53 48 43 338 33 B 53 48 43 38 33 A
54 49 44 39 34 D 54 49 44 39 34 B
55 50 45 40 35 D 55 50 45 40 35 D
56 51 46 41 36 A 56 51 46 41 36 C
57 52 47 42 37 C 57 52 a7 42 37 A
58 53 48 43 38 B 58 53 48 43 38 B
59 54 49 44 39 C 59 54 49 44 39 D
60 55 50 45 40 BONUS 60 55 50 45 40 D
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REET 2017 (5T-2) LANGUAGE-1 URDU (31-60)

REET 2017 5T-2 KEY

REET 2017 (5T-2) LANGUAGE-1 SINDHI {31-60)

https://www.pyqonline.com

Q.NO. E F G H ANS
31 56 51 46 41 C
32 57 52 47 42 A
33 58 53 48 43 B
34 59 54 49 44 C
35 60 55 50 45 B
36 31 56 51 46 C
37 32 57 52 47 B
38 33 58 53 48 B
39 34 59 54 49 c
40 35 60 55 50 D
41 36 31 56 51 A
42 37 32 57 52 C
43 38 33 58 53 B
44 39 34 59 54 =
45 40 35 &0 55 B
46 41 36 31 56 C
47 42 37 32 57 B
48 43 38 332 58 B
43 a4 39 34 59 Cc
50 45 50 35 60 A
51 46 41 36 31 D
32 a7 42 37 32 Cc
53 48 43 38 33 Cc
54 49 44 39 34 B
55 50 45 40 35 D
56 51 46 41 36 A
57 52 47 42 37 B
58 33 48 43 38 C
59 54 49 44 39 D
60 55 50 45 40 A

REET 2017 (ST-2) LANGUAGE-1 PUNJABI {31-60)

Q.NOC, E F G H ANS
31 56 51 46 41 D
32 57 52 47 42 B
33 58 53 48 43 C
34 39 54 49 44 B
35 60 55 50 45 A
36 31 56 51 46 C
37 32 57 52 47 D
38 33 58 33 48 B
39 34 58 54 49 D
40 35 &0 55 50 A
41 36 31 56 51 C
42 37 32 57 52 A
43 33 33 58 53 C
44 39 34 59 54 D
45 40 35 &0 35 A
46 41 36 31 56 A
47 42 37 32 57 B8
48 43 38 33 58 C
49 44 39 34 59 A
50 45 40 35 &0 D
51 46 41 36 31 A
52 a7 42 37 32 C
53 48 43 38 33 B
54 49 44 38 34 A
55 50 45 40 35 D
56 51 46 41 36 C
57 52 47 42 37 C
58 53 48 43 38 B
59 54 49 a4 39 D
&0 55 30 45 40 A

Q.NO. E F G H ANS
31 56 51 46 41 A
32 57 52 47 42 B
33 58 53 48 43 A
34 59 54 49 44 D
35 60 55 50 45 C
36 31 56 51 46 D
7 32 57 52 a7 c
38 33 58 53 48 B
39 34 59 54 49 B
40 35 60 55 50 B
41 36 31 56 21 A
42 37 32 57 32 A
43 38 33 58 53 B
44 39 34 59 54 A
45 40 35 &0 55 A
46 41 36 31 56 B
47 42 37 32 57 A
48 43 38 33 58 C
49 44 39 34 59 B
50 45 40 35 60 A
51 46 41 36 31 B
52 47 42 37 32 C
53 48 43 38 33 A
54 49 44 39 34 B
55 50 45 40 35 B
56 51 46 41 36 D
37 52 47 42 37 A
58 53 48 43 38 D
59 54 49 44 39 A
60 55 50 45 40 A

REET 2017 (5T-2) LANGUAGE-1 GUJRATI (31-60)

Q.NO. E F G H ANS
31 56 51 46 41 C
32 57 52 a7 42 B
33 58 53 48 43 A
34 59 54 49 44 D
35 60 55 50 45 D
36 31 56 51 46 A
37 32 57 52 a7 D
38 33 58 53 48 B
39 34 59 54 49 C
40 35 60 55 50 D
41 36 31 56 51 A
42 37 32 57 52 C
43 38 33 58 53 B
a4 39 34 59 54 B
45 40 35 60 55 D
46 41 36 31 56 D
47 42 37 32 57 A
48 43 38 33 58 B
49 44 39 34 59 D
50 45 40 35 60 C
51 46 41 36 31 A
52 47 42 37 32 D
53 48 43 38 33 C
54 49 44 39 34 C.D
55 50 45 40 35 A
56 51 46 41 36 B
57 52 47 42 37 D
58 53 48 43 38 D
59 54 49 44 39 C
60 55 50 45 40 B
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REET 2017 5T-2 KEY

REET 2017 (5T-2) LANGUAGE-2 HINDI (61-90) REET 2017 (5T-2) LANGUAGE-2 ENGLISH {61-90)
Q.NO. E F G H ANS Q.NO. E F G H ANS
61 86 76 70 66 A 61 86 76 70 66 A
62 B7 77 71 67 B 62 87 7 71 67 B
63 88 78 72 68 D 63 88 78 72 68 B
64 89 79 73 69 A 64 89 79 73 69 A
65 90 B0 74 70 c 65 a0 80 74 70 A
66 61 81 75 71 D 66 61 21 75 71 A
67 62 82 76 72 A 67 62 g2 76 72 B

68 63 83 77 73 C 68 63 83 77 73 B,C
69 64 84 78 74 C 69 64 34 78 74 A
70 65 85 79 75 A 70 65 B85 79 75 A
71 66 86 80 76 C 71 66 86 80 76 B8
72 67 87 81 77 A 72 67 87 81 77 B
73 GB 88 82 78 B 73 68 g8 82 78 B
74 69 89 83 79 B 74 69 89 83 79 B
75 70 90 84 B0 C 75 70 90 B4 80 A
76 71 61 85 81 A 76 71 61 B85 81 D
77 72 62 86 82 C 77 72 62 86 82 |BONUS
78 73 63 87 83 A 78 73 63 87 83 B
79 74 64 88 84 D 79 74 64 88 84 C
80 75 65 89 85 B 80 75 65 89 B5 A
81 76 66 90 86 C 81 76 66 90 86 C
82 77 67 61 87 D B2 I7 67 61 87 o
83 78 68 62 88 A 83 78 68 62 88 B
84 79 69 63 89 B 84 79 69 63 89 C
85 80 70 64 90 A 85 80 70 64 90 C
B6 81 71 &5 61 B 86 81 71 &5 61 B
87 82 72 66 62 A 87 82 72 66 62 C
88 83 73 67 63 A 88 83 73 67 63 C
89 84 74 68 64 C 89 84 74 68 64 C
90 85 75 &9 65 D 20 85 75 69 65 A

REET 2017 (5T-2} LANGUAGE-Z SANSKRIT [61-90) REET 2017 [5T-2) LANGUAGE-2 URDU (61-90)
Q.NO. E F G H ANS Q.NO, E F G H ANS

61 86 76 70 66 C 61 86 76 70 66 C
62 87 77 71l 67 B 62 87 77 71 67 B
63 88 78 72 68 D 63 88 78 72 638 A
64 89 79 73 69 C 64 89 79 73 69 B
65 a0 80 74 70 B 65 90 80 74 70 C
66 61 81 75 71 B 66 61 81 75 71 D
67 62 82 76 72 C 67 62 82 76 72 A
63 &3 83 77 73 D 68 63 83 77 73 D
69 64 84 78 74 B 69 64 84 78 74 A
70 65 85 79 75 C 70 65 85 79 75 B
71 66 86 B0 76 A 71 66 ) g0 76 C
72 67 87 81 77 B 72 67 87 81 77 C
73 68 88 82 78 C 73 68 88 82 78 B
74 69 89 83 79 D 74 69 89 &3 79 A
75 70 90 84 80 B 75 70 a0 84 80 c
76 71 61 B85 81 C 76 71 bl 85 81 D
77 72 62 86 82 A 7 72 62 86 82 B
78 73 63 87 83 B 78 73 63 87 83 C
79 74 64 88 84 D 79 74 64 B8 84 B
80 75 65 B89 85 C 80 75 65 89 85 |BONUS
81 76 66 90 86 A 81 76 66 90 86 D
82 77 67 61 87 B 82 77 67 61 87 C
83 78 68 62 88 A 83 78 68 62 88 C
84 79 69 63 89 B 84 79 69 63 89 D
85 80 70 64 90 D 85 80 70 64 90 B
BE 81 71 65 61 B 26 81 71 65 61 C
87 g2 72 66 62 C 87 82 72 66 62 A
88 83 73 67 63 BONUS 88 83 73 67 63 B
89 84 74 68 64 C 89 84 74 68 64 D
[0 &5 75 69 65 D 90 B85 75 69 65 B
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REET 2017 (ST-2) LANGUAGE-2 SINDHI (61-90)

REET 2017 5T-2 KEY

REET 2017 (5T-2) LANGUAGE-2 PUNJABI {61-90)

Q.NO. E F G H ANS Q.NO. E F G H ANS
61 86 76 70 66 A 61 86 76 70 66 B
62 87 77 71 67 A 62 87 77 71 67 A
63 88 78 72 68 D 63 88 78 72 68 D
64 89 79 73 69 B 64 89 79 73 69 D
65 90 80 74 70 A 65 20 80 74 70 C
66 61 81 75 71 C 66 61 81 75 71 A
o7 62 82 76 72 A 67 62 82 76 72 C
68 63 83 77 73 A 68 63 83 77 73 B
69 64 84 78 74 C 69 64 84 78 74 D
70 65 85 79 75 B 70 65 85 79 75 c
71 66 86 B0 76 B 71 66 Bb6 80 76 A
72 67 87 81 77 D 72 &7 87 81 77 B
73 68 88 82 78 C 73 68 88 82 78 D
74 69 89 83 79 A 74 69 89 83 79 C
75 70 90 84 30 A 75 70 S0 84 80 B
76 71 61 85 81 A 76 71 61 85 81 C
77 72 62 Bb B2 A 77 72 62 86 82 A
78 73 63 87 B3 B 78 73 63 87 83 D
79 74 64 88 84 D 79 74 654 88 84 D
80 75 65 B89 85 D 80 75 65 89 85 |BONUS
81 76 66 0 86 o 81 76 66 90 86 B
82 77 67 61 87 C B2 77 67 61 87 A
83 78 68 62 88 B 83 78 68 62 88 C
84 79 69 63 89 C 84 79 69 63 89 B
85 80 70 G4 90 B 85 80 70 64 90 8
86 81 71 65 61 B 86 81 71 65 61 A
87 82 72 66 62 A 87 82 72 66 62 A
88 83 73 67 63 A 388 83 73 67 63 D
89 84 74 68 64 A 89 B84 74 68 64 C
20 85 75 69 65 C 90 85 75 69 65 D

REET 2017 [5T-2) LANGUAGE-2 GUIRATI (61-90)

Q.NO. E F G H ANS
61 86 76 70 66 B
62 87 77 71 67 A
63 8B 78 72 68 D
64 89 79 73 69 C
65 80 BO 74 70 A
66 61 81 75 71 C
67 62 82 Fiz 72 A
68 63 83 77 73 A
69 64 84 78 74 D
70 65 85 79 75 C
71 66 86 80 76 Cc
72 67 87 81 77 A
73 68 B8 g2 78 A
74 69 89 83 79 B
75 70 90 84 80 C
76 71 61 85 81 B
77 72 62 86 82 D
78 73 63 87 83 C
79 74 64 88 84 B
80 75 65 89 85 A
81 76 66 90 86 C
82 77 67 61 87 D
83 78 68 62 88 D
84 79 69 63 89 A
85 a0 70 64 20 A
86 81 71 65 61 A
87 82 72 66 62 C
88 83 73 67 63 B
89 84 74 68 64 C

&5 75 69 65 B

20
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REET 2017 ST-2 KEY

REET 2017 (5T-2) MATHEMATICS AND SCIENCE [91-150)

REET 2017 {5T-2) SOCIAL STUDIES (91-150)

Q.NO. E F G H ANS Q.NQ. E F G H ANS
91 114 106 101 96 B 21 113 106 101 96 D
92 115 107 102 97 C 92 115 107 102 97 D
93 116 108 103 98 D 93 116 108 103 98 A
94 117 109 104 99 A 94 117 109 104 99 C
95 118 110 105 100 A 95 118 110 105 100 D
96 119 111 106 101 B 96 119 111 106 101 A
a7 120 112 107 102 D 97 120 112 107 102 B
98 91 113 108 103 C 98 91 113 108 103 C
99 a2 114 109 104 C 99 92 114 109 104 C

100 a3 115 110 105 B 100 93 115 110 105 B
101 94 116 111 106 B 101 94 116 111 106 A
102 95 117 112 107 D 102 95 117 112 107 B
103 96 118 113 108 A 103 96 118 113 108 B
104 97 119 114 109 C 104 97 115 114 109 D
105 98 120 115 110 B 105 98 120 115 110 A
106 99 91 116 111 C 106 99 91 116 111 B
107 100 92 117 112 B 107 100 92 117 112 B
108 101 93 118 113 A 108 101 93 118 113 C
109 102 94 119 114 D 109 102 94 119 114 A
110 103 95 120 115 BONUS 110 103 95 120 115 C
111 104 96 91 116 | BONUS 111 104 96 21 116 D
112 105 a7 92 117 A,C 112 105 97 92 117 A
113 106 98 93 118 D 113 106 98 93 118 C
114 107 99 94 119 C 114 107 99 94 119 B
115 108 100 95 120 A 115 108 100 95 120 D
116 109 101 96 91 B 116 109 101 96 91 B
117 110 102 97 92 D 117 110 102 97 92 A
118 111 103 938 93 A 118 111 103 98 93 D
1139 112 104 99 94 C 119 112 104 95 94 B
120 113 105 100 95 C 120 113 105 100 95 C
121 145 138 132 126 B 121 145 138 132 126 C
122 146 139 133 127 B 122 146 139 133 127 B
123 147 140 134 128 C,D 123 147 140 134 128 A
124 148 141 135 129 | BONUS 124 148 141 135 129 D
125 149 142 136 130 A 125 149 142 136 130 A
126 150 143 137 131 C 126 150 143 137 131 C
127 121 144 138 132 D 127 121 144 138 132 A
128 122 145 139 133 C 128 122 145 139 133 B
129 123 146 140 134 C 129 123 146 140 134 A
130 124 147 141 135 C 130 124 147 141 135 D
131 125 148 142 136 D 131 125 148 142 136 A
132 126 149 143 137 D 132 126 149 143 137 D
133 127 150 144 138 D 133 127 150 144 138 A
134 128 121 145 139 B 134 128 121 145 139 |BONUS
135 1259 122 146 140 B 135 129 122 146 140 B
136 130 123 147 141 C 136 130 123 147 141 C
137 131 124 148 142 A 137 131 124 148 142 A
138 132 125 149 143 D 138 132 125 149 143 C
139 133 126 150 144 A 139 133 126 150 144 A
140 134 127 121 145 C 140 134 127 121 145 A
141 135 128 122 146 C 141 135 128 122 146 A
142 136 129 123 147 B 142 136 129 123 147 Cc
143 137 130 124 148 B 143 137 130 124 148 C
144 138 131 125 149 C 144 138 131 125 149 B
145 139 132 126 150 A 145 139 132 126 150 B
146 140 133 127 121 BONUS 146 140 133 127 121 B
147 141 134 128 122 D 147 141 134 128 122 D
148 142 135 129 123 B 148 142 135 129 123 A
149 143 136 130 124 C 149 143 136 130 124 D
150 144 137 131 125 A 150 144 137 131 125 B
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